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  Instructions / �ચૂના 
Candidate must ensure compliance to the instructions mentioned below, else objections shall not be 
considered: - 

(1) All the suggestion should be submitted through ONLINE OBJECTION SUBMISSION SYSTEM only. Physical
or submission through E- Mail of suggestions will not be considered.

(2) Question wise suggestion to be submitted in the prescribed format (proforma) published on the website /
online objection submission system.

(3) All suggestions are to be submitted with reference to the Master Question Paper with provisional answer 
key (Master Question Paper), published herewith on the website / online objection submission system.
Objections should be sent referring to the Question, Question No. &  options of the Master Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master Question 
Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the responses given by
him in his answer sheet. Objections shall not be considered, in case, if responses given in the answer sheet 
/response sheet and submitted suggestions are differed.

(6) Objection for each question should be made on separate sheet. Objection for more than one question in 
single sheet shall not be considered.

   ઉમેદવાર� નીચેની �ચૂનાઓ�ુ ંપાલન કરવાની તક�દાર� રાખવી, અન્યથા વાધંા-�ચૂન �ગે કર�લ ર�ૂઆતો ધ્યાને લેવાશે નહ� 

(1) ઉમેદવાર� વાધંા-�ચૂનો ફક્ત ઓનલાઈન ઓબ્�કશન સબમીશન સીસ્ટમ દ્વારા જ સબમીટ કરવાના રહ�શે.�બ�, ટપાલ

અથવા ઈ-મેઈલ દ્વારા આયોગની કચેર�એ મોકલવામા ંઆવેલ વાધંા-�ચૂનો ધ્યાને લેવામા ંઆવશે નહ� �ની ખાસ ન�ધ લેવી.

(2) ઉમેદવાર� વાધંા-�ચૂનો ર�ૂ કરવા વેબસાઈટ / ઓનલાઈન ઓબ્�કશન સબમીશન સીસ્ટમ પર પ્રિસધ્ધ થયેલ િનયત ન�નૂાનો

જ ઉપયોગ કરવો.

(3) ઉમેદવાર� પોતાને પર�ક્ષામા ં મળેલ પ્ર���ુસ્તકામા ં છપાયેલ પ્ર�ક્રમાકં �જુબ વાધંા-�ચૂનો ર�ૂ ન કરતા તમામ વાધંા-�ચૂનો

વેબસાઈટ પર પ્રિસધ્ધ થયેલ પ્રોિવઝનલ આન્સર ક� (માસ્ટર પ્ર�પત્ર) ના પ્ર�ક્રમાકં �જુબ અને તે સદંભર્મા ંર�ૂ કરવા. 

(4) માસ્ટર પ્ર�પત્રમા ંિન�દ�ષ્ટ પ્ર� અને િવકલ્પ િસવાયના વાધંા-�ચૂનો ધ્યાને લેવામા ંઆવશે નહ�. 

(5) ઉમેદવાર� પ્ર�ના િવકલ્પ પર વાધંો ર�ૂ કર�લ છે અને િવકલ્પ �પે � જવાબ �ચૂવેલ છે એ જવાબ ઉમેદવાર� પોતાની ઉતરવહ�મા ં

આપેલ હોવો જોઈએ. ઉમેદવાર� �ચૂવેલ જવાબ અને ઉતરવહ�નો જવાબ �ભ� હશે તો ઉમેદવાર� ર�ૂ કર�લ વાધંા-�ચૂનો ધ્યાને

લેવાશે નહ�.

(6) એક પ્ર� માટ� એક જ વાધંા-�ચૂન પત્રક વાપર� ુ.ં એક જ વાધંા-�ચૂનો પત્રકમા ંએકથી વધાર� પ્ર�ોની ર�ૂઆત કર�લ હશે તો તે

�ગેના વાધંા-�ચૂનો ધ્યાને લેવાશે નહ�.

Website link for online objection submission system : http://gpsc.safevaults.in/login/ 

http://gpsc.safevaults.in/login/
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001. fÞk hkßÞ{kt yuf …ðoŒ …h ykþhu 863 si™ {trËhku ykðu÷kt Au?

(A) hksMÚkk™ (B) „wshkŒ

(C) ykurhM‚k (D) rƒnkh

002. ¼khŒ™e ykÍkËe …nu÷k „wshkŒ™wt fÞwt MÚk¤ „kurn÷ðkz Œhefu yku¤¾kŒwt nŒwt?

(A) ƒ™k‚fktXk (B) ‚kƒhfktXk

(C) ¼kð™„h (D) ðzkuËhk

003. …rå[f{ ßðu÷he {q¤ .......... ™e Au.

(A) ðzkuËhk (B) fåA

(C) {nu‚kýk (D) ¼kð™„h

004. ‚whŒ þnuh ƒeò fÞk ™k{Úke …ý yku¤¾kÞ Au?

(A) ‚íÞ…wh (B) ‚whŒ…wh

(C) ‚w…wh (D) ‚qÞo…wh

005. fÞk Ëuþu 2021{kt ðzk«Äk™ {kuËe™u ‚ðkuoå[ ™k„rhf ‚L{k™ ‘ykuzoh ykuV z›f øÞkÕ…ku’Úke ‚L{kr™Œ fÞkO Au?

(A) ™u…k¤ (B) ©e÷tfk

(C) ¼qŒk™ (D) ‚tÞwõŒ ykhƒ y{ehkŒ

006. ¼khŒeÞ yðfkþ ‚tþkuÄ™ ‚tMÚkk (ErLzÞ™ M…u‚ rh‚[o yku„uo™kEÍuþ™-ISRO)™k …w™:W…Þku„e ÷kuL[ Ônef÷ (RLV)
fu suýu Œu™wt ºkeswt r{þ™ ‚V¤Œk…qðof nkÚk ÄÞwO Œu™u fÞwt ™k{ yk…ðk{kt ykÔÞwt Au?

(A) …w»…f (B) rð™kÞf

(C) „Áz (D) {kÁrŒ

007. ¼khŒeÞ y™u y{urhfk™k ™kifkË¤u {k[o 2024{kt nkÚk Ähu÷e rî…ûkeÞ {k™ðŒkðkËe ‚nkÞ y™u yk…r¥k hknŒ (HADR)
fðkÞŒ fÞkt ™k{u yku¤¾kÞ Au?

(A) yuõ‚‚kRÍ r{÷™ (B) {÷ƒkh

(C) he{-ykuV-Ä-…ur‚rVf (D) xkR„h xÙkÞBV-24

008. yrø™ƒký ..........

(A) ELËkuh, Wßsi™ y™u ¼ku…k÷Úke «fkrþŒ ÚkŒwt y„úýe rnLËe Ëir™f ‚ktæÞ y¾ƒkh Au.

(B) ‚w…h‚kur™f ¢qÍ r{‚kE÷ ƒ™kððk {kxu ¼khŒ y™u hrþÞk ðå[u ‚tÞwõŒ ‚kn‚ Au.

(C) ykRykRxe-{ÿk‚ îkhk RLfâwƒuxuz M…u‚ Mxkxo-y… yrø™fw÷ fkuM{ku‚ îkhk ÷ku yÚko ykurƒox (LEO) {kxu ™k™k
W…„únku {kxu {kuƒkR÷ ÷kuL[ r‚Mx{ Au.

(D) ykuhe-Áƒu÷k ™kƒqËe {kxu fuLÿ ‚hfkh™ku h‚efhý fkÞo¢{ Au.

009. RLxurL‚VkRz r{þ™ RLÿÄ™w»k 5.0 (IMI 5.0) yr¼Þk™ fÞk fkÞo¢{ ‚kÚku ‚tƒtrÄŒ Au?

(A) …kur÷Þku y™u nu…uxkRrx‚-ƒe™k h‚efhý yr¼Þk™{kt ‚wÄkhýk Íqtƒuþ

(B) ykuhe y™u Yƒu÷k™k h‚efhý ÔÞk…{kt ‚wÄkhku

(C) …Õ{ku™he xeƒe™k r™ðkhý {kxu ƒe‚eS h‚e™e y‚hfkhfŒk{kt ‚wÄkhku

(D) þeŒ¤k ™kƒqËe fkÞo¢{{kt ‚wÄkhku
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001. In which State, approximately 863 Jain temples are located on one mountain?

(A) Rajasthan (B) Gujarat

(C) Odisha (D) Bihar

002. Which place in Gujarat was known as Gohilwad before India’s independence?

(A) Banaskantha (B) Sabarkantha

(C) Bhavnagar (D) Vadodara

003. Originally the Pachchikam jewellery is from _______.

(A) Vadodara (B) Kutch

(C) Mehsana (D) Bhavnagar

004. The city of Surat is also known by the name of _______.

(A) Satyapur (B) Suratpur

(C) Supur (D) Suryapur

005. Which country has conferred the Order of the Druk Gyalpo, the highest civilian decoration, on
Prime Minister Modi in 2021?

(A) Nepal (B) Sri Lanka

(C) Bhutan (D) United Arab Emirates

006. The Reusable Launch Vehicle (RLV) of the Indian Space Research Organisation (ISRO) which
successfully conducted its third mission is named _______.

(A) Pushpak (B) Vinayak

(C) Garuda (D) Maruti

007. Indian and United States navies have conducted a bilateral Humanitarian Assistance and Disaster
Relief (HADR) exercise conducted in March 2024 called _______.

(A) Exercise MILAN (B) Malabar

(C) Rim-of-the-Pacific (D) Tiger Triumph-24

008. Agnibaan is _______.

(A) A leading Hindi daily evening newspaper published from Indore, Ujjain and Bhopal

(B) A joint venture between India and Russia to produce supersonic cruise missiles

(C) A mobile launch system for small satellites to Low Earth Orbits (LEO) by the space start-
up Agnikul Cosmos incubated by IIT-Madras

(D) A central government immunization program to eradicate Measles-Rubella

009. Intensified Mission Indradhanush 5.0 (IMI 5.0) campaign is related to which programme?

(A) Improvement of Polio and Hepatitis B vaccination drive

(B) Improvement of Measles and Rubella vaccination coverage

(C) Improvement of the efficacy of BCG vaccine in the prevention of pulmonary TB

(D) Improvement of the Smallpox eradication programme
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010. …„ y™u {kU™k hku„ (FMD) ‚kÚku fÞwt ‚tƒtrÄŒ Au?

(A) ƒuõxurhÞkÚke ÚkŒku …þwhku„

(B) Vq„Úke ÚkŒku …ûkehku„

(C) ð™M…rŒ hku„

(D) Vkxu÷e ¾heðk¤k ûkrŒ„úMŒ (õ÷kuðu™-nqV) «kýeyku™ku ðkÞh÷ hku„

011. 2024 ‚wÄe{kt hrþÞk™k hk»xÙ…rŒ Ô÷krË{eh …wrŒ™u hk»xÙ…rŒ™e [qtxýe{kt fux÷e {wËŒ {kxu rðsÞ {u¤ÔÞku Au?

(A) 3 xB‚o (B) 4 xB‚o

(C) 5 xB‚o (D) 6 xB‚o

012. ykËþo yk[kh ‚trnŒk (MCC)™k ‚tƒtÄ{kt fÞwt/fÞk ‚k[wt/‚k[k Au?

I. [qtxýe Ëhr{Þk™ hksfeÞ …ûkku y™u W{uËðkhku™k ðŒo™™u r™ÞtrºkŒ fhðk {kxu ¼khŒeÞ [qtxýe…t[ (EC) îkhk òhe
fhkÞu÷ {k„oËrþofkyku™ku ‚{qn.

II. ykËþo yk[kh ‚trnŒk™e h[™k Œ{k{ W{uËðkhku {kxu ‚{k™ h{Œ™wt ûkuºk ò¤ðe™u y™u [qtxýe÷ûke ÷k¼ {kxu
‚¥kkðkh {þe™he™ku ËwÁ…Þku„ yxfkðe™u {wõŒ y™u LÞkÞe [qtxýeyku ‚wr™rùŒ fhðk {kxu fhðk{kt ykðe Au.

III. ykËþo yk[kh ‚trnŒk™e þYykŒ{kt 1968-69{kt {æÞ-„k¤k™e [qtxýeyku Ëhr{Þk™ '÷½w¥k{ yk[kh ‚trnŒk’
þe»kof nuX¤ [qtxýe …t[ îkhk hsq fhðk{kt ykðe nŒe.

(A) VõŒ I ‚k[wt Au. (B) VõŒ I y™u II ‚k[k Au.

(C) VõŒ I y™u III ‚k[k Au. (D) ƒÄk s ‚k[k Au.

013. ƒtÄkhý™ku fÞku y™wåAuË [qtxýe…t[™u yLÞ ƒkƒŒku™e ‚kÚku ‚t‚Ë y™u hkßÞ rðÄk™‚¼k™e [qtxýeyku fhkððk™ku
ykËuþ yk…u Au?

(A) y™wåAuË 324 (B) y™wåAuË 224

(C) y™wåAuË 124 (D) y™wåAuË 24

014. ¼khŒ™e ƒnkh fÞk Ëuþ{kt «Úk{ ð¾Œ y{q÷™wt Œkswt ËqÄ W…÷çÄ Úkþu?

(A) ƒktø÷kËuþ (B) ©e÷tfk

(C) hrþÞk (D) Þwyu‚yu

015. ‘yku…huþ™ RLÿkðŒe’ ..........

(A) 2022{kt hrþÞk™k Þw¢u™ …h™k yk¢{ý™e þYykŒ{kt …zkuþe Ëuþku{kt yxðkÞu÷k ÷„¼„ 18000 ¼khŒeÞku,
{kuxk¼k„u rðãkÚkeoyku™wt MÚk¤ktŒh.

(B) EÍhkÞu÷-…u÷uMxkE™ ‚t½»ko ðå[u V‚kÞu÷k ¼khŒeÞku™u ƒ[kððk {kxu ¼khŒ ‚hfkh îkhk Eðufâwyuþ™ r{þ™.

(C) ‚wËk™{kt V‚kÞu÷k ÷„¼„ 3,900 ¼khŒeÞku™u ƒ[kððk {kxu ¼khŒ ‚hfkh îkhk Rðufâwyuþ™ r{þ™.

(D) niŒeÚke zkur{r™f™ rh…rç÷f{kt ¼khŒeÞku™u ƒ[kððk {kxu ¼khŒ ‚hfkh îkhk Rðufâwyuþ™ r{þ™.

016. “yuõ‚‚kRÍ ÷ur{xe-2024” yu ¼khŒ y™u ƒeò fÞk Ëuþ ðå[u 10 rËð‚™e ‚tÞwõŒ ‚iLÞ fðkÞŒ Au?

(A) ykuMxÙur÷Þk (B) ®‚„k…kuh

(C) Þwyu‚yu (D) ‚uþuÕ‚
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010. The Foot and Mouth Disease (FMD) is related to _____________?

(A) Bacterial disease of livestock

(B) Fungus disease of Birds

(C) Plant disease

(D) Viral disease of cloven-hoofed animals

011. By 2024, Russian President Vladimir Putin has secured victory in the presidential elections for
how many terms?

(A) 3 terms (B) 4 terms

(C) 5 terms (D) 6 terms

012. Which is/are correct regarding the Model Code of Conduct (MCC)?

I. A set of guidelines issued by the Election Commission of India (EC) to regulate the conduct
of political parties and candidates during elections.

II. The MCC is designed to ensure free and fair elections by maintaining a level playing field
for all contestants and preventing the misuse of official machinery for electoral gains.

III. MCC was initially introduced by the Election Commission under the title of ‘Minimum
Code of Conduct’ during the Mid-Term Elections in 1968-69.

(A) Only I is correct (B) Only I and II are correct

(C) Only I and III are correct (D) All are correct

013. Which article of the Constitution mandates the Election Commission to conduct elections, among
other things, to the Parliament and the State Legislatures?

(A) Article 324 (B) Article 224

(C) Article 124 (D) Article 24

014. For the first time Amul fresh milk will be available in which country outside India?

(A) Bangladesh (B) Sri Lanka

(C) Russia (D) USA

015. ‘Operation Indravati’ is _______.

(A) Evacuation of around 18000 Indians, mostly students, who were stuck in neighboring
countries at the onset of Russia’s invasion of Ukraine in 2022.

(B) Evacuation mission by the Indian government to rescue Indians stranded amid the Israel-
Palestine conflict.

(C) Evacuation mission by the Indian government to rescue around 3,900 Indians stranded in
Sudan.

(D) Evacuation mission by the Indian government to rescue Indians from Haiti to the Dominican
Republic.

016. “EXERCISE LAMITIYE–2024” is a 10-day joint military exercise between India and which
other country?

(A) Australia (B) Singapore

(C) USA (D) Seychelles
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017. Ëuþ™k „úk{eý rðMŒkhku™u «kÄkLÞ yk…Œk Þwðk rðãkÚkeoyku™u yðfkþ rð¿kk™, yðfkþ Œf™ef y™u yðfkþ yurÃ÷fuþ™
…h {q¤¼qŒ ¿kk™ yk…ðk {kxu ISRO™k ‘Þt„ ‚kÞrLxMx «ku„úk{’™wt ™k{ þwt Au?

(A) ™krðfk (B) Þwrðfk

(C) ÞwrÚkfk (D) E‚hkufk

018. fÞk Ëuþ™wt RLMxLx …u{uLx Ã÷uxVku{o AANI ¼khŒ™k UPI ‚kÚku òuzkÞu÷wt Au?

(A) ÞwyuR (B) fŒkh

(C) ™u…k¤ (D) ¼qŒk™

019. ¼khŒ™ku ‚kiÚke ÷ktƒku fuƒ÷ Mxuz rƒús,'‚wËþo™ ‚uŒw’ fÞkt hkßÞ{kt ykðu÷ku Au?

(A) sB{w y™u fk~{eh (B) „wshkŒ

(C) {nkhk»xÙ (D) r‚r¬{

020. ¼khŒ™k yuykE ‚w…h fkuBÃÞwxh™wt ™k{ þwt Au, su™u s{o™e{kt ELxh™uþ™÷ ‚w…h fkuBÃÞw®x„ fkuLVhL‚ (ISC 2023){kt
rðï¼h{kt 75{wt MÚkk™ yk…ðk{kt ykÔÞwt Au?

(A) yswo™ (B) „Áz

(C) ÿwŒ (D) yihkðŒ

021. ¼khŒ{kt f]rºk{ ƒwrØ{¥kk(AI)™u «kuí‚kn™ yk…ðk {kxu E÷uõxÙkur™õ‚ y™u {krnŒe «kiãkur„fe {tºkk÷Þ(r{r™MxÙe
ykuV E÷uõxÙkur™õ‚ yuLz ELV{uoþ™ xu÷™ku÷kìS-MEITY) îkhk þY fhðk{kt ykðu÷ Aºk fkÞo¢{(ytƒúu÷k «ku„úk{)™wt
™k{ þwt Au?

(A) ErLzÞk-yuykE (B) yuykE-ErLzÞk

(C) rzrsx÷ ErLzÞk (D) ykxo-RLx-RLz

022. ™uºkMŒhËkn hku„ (Conjunctivitis)™u .......... Œhefu …ý yku¤¾ðk{kt ykðu Au.

(A) ø÷wfku{k (Glaucoma) (B) {kÞkur…Þk (Myopia)

(C) ykt¾ ykððe (Pink Eye) (D) «uMƒkÞkur…Þk (Presbyopia)

023. ¼khŒu fÞkt ð»ko ‚wÄe{kt 'þqLÞ Wí‚so™’™wt ÷ûÞ nkt‚÷ fhðk™wt ÷ûÞ hkÏÞwt Au?
(A) 2047 (B) 2050
(C) 2060 (D) 2070

024. 'rzrsx÷ fÕ[h’ – þçËku ..........

(A) su heŒu fkuBÃÞwxh, ÷u…xku… y™u {kuƒkE÷™ku W…Þku„ ÚkkÞ Au, Œu™ku ‚tË¼o yk…u Au.

(B) ðŒoýqfku, ÔÞðnkhku y™u {qÕÞku su rzrsx÷ Œf™efku™k W…Þku„Úke rðfr‚Œ ÚkkÞ Au, Œu™ku ‚tË¼o yk…u Au.

(C) su heŒu rðãkÚkeoyku M{kxo xuf™ku÷kuS{ktÚke þe¾u Au, Œu™ku ‚tË¼o yk…u Au.

(D) su heŒu ÷kufku á~Þ-©kÔÞ (ykurzÞku-rðÍTÞwy÷) xuf™ku÷kuS ðzu «íÞkÞ™ fhu Au, Œu™ku ‚tË¼o yk…u Au.

025. ¼khŒ{kt ‚kiÚke ÷ktƒku {wÏÞ ¼qr{ ËrhÞkrf™khku fÞk hkßÞ …k‚u Au?

(A) yktÄú«Ëuþ (B) {nkhk»xÙ

(C) Œkr{÷™kzw (D) „wshkŒ

026. ™uþ™÷ yufuzu{e ykuV fkuMx÷ …ku÷e®‚„ (NACP)™wt fkÞ{e {Úkf õÞkt ykðu÷wt Au?

(A) îkhfk, „wshkŒ (B) ¼ws, „wshkŒ

(C) fåA, „wshkŒ (D) ‚÷kÞk, „wshkŒ
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017. What is the name of ISRO’s ‘Young Scientist Programme’ to impart basic knowledge on space
science, space technology, and space applications to the younger students with a preference to
rural areas of the country?

(A) NAVIKA (B) YUVIKA

(C) YUTHIKA (D) ISROKA

018. Which country’s instant payment platform AANI has been linked with India’s UPI?

(A) UAE (B) Qatar

(C) Nepal (D) Bhutan

019. ‘Sudarshan Setu’, India’s longest cable-stayed bridge, is located in which state?

(A) Jammu and Kashmir (B) Gujarat

(C) Maharashtra (D) Sikkim

020. What is the name of India’s AI Supercomputer that has been ranked No. 75 worldwide at the
International Supercomputing Conference (ISC 2023) in Germany?

(A) ARJUN (B) GARUDA

(C) DRUTA (D) AIRAWAT

021. What is the name of the umbrella programme launched by the Ministry of Electronics and
Information Technology (MeitY) to promote artificial intelligence in India?

(A) INDIAai (B) AI-INDIA

(C) Digital India (D) Art-Int-Ind

022. Conjunctivitis disease is also known as _______.

(A) Glaucoma (B) Myopia

(C) Pink Eye (D) Presbyopia

023. India aims to achieve the target of ‘net zero emissions’ by the year _______.

(A) 2047 (B) 2050

(C) 2060 (D) 2070

024. The phrase ‘Digital Culture’ refers to _______.

(A) The way computers, laptops, and mobiles are used.

(B) The behaviours, practices, and values that develop from the use of digital technologies.

(C) The way students learn from smart technologies.

(D) The way people interact with audio-visual technology.

025. Which state has the longest mainland coastline in India?

(A) Andhra Pradesh (B) Maharashtra

(C) Tamil Nadu (D) Gujarat

026. The permanent campus of the National Academy of Coastal Policing (NACP) is located
in _______.

(A) Dwarka, Gujarat (B) Bhuj, Gujarat

(C) Kutch, Gujarat (D) Salaya, Gujarat
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027. „wshkŒ{kt ¼khŒeÞ st„÷e „Äuzk™wt y¼ÞkhÛÞ ..........

(A) fåA™k ™k™k hý{kt ykðu÷wt Au.

(B) ðkt‚Ëk hk»xÙeÞ Wãk™, ™ð‚khe{kt ykðu÷wt Au.

(C) òtƒw½kuzk ðLÞSð y¼ÞkhÛÞ, ðzkuËhk{kt ykðu÷wt Au.

(D) ðu¤kðËh hk»xÙeÞ Wãk™, ¼kð™„h{kt ykðu÷wt Au.

028. fåA{kt ykðu÷wt ‚whfkuxzk ..........

(A) ®‚Äw ¾eý™e ‚tMf]rŒ™k yðþu»kku {kxu òýeŒwt Au.

(B) ¼‚Œk nhý™wt ðLÞSð y¼ÞkhÛÞ {kxu òýeŒwt Au.

(C) …÷koRx™k Wí…kË™ {kxu òýeŒwt Au.

(D) þu÷ „u‚™k y™k{Œ sÚÚkk {kxu òýeŒwt Au.

029. ÷û{e rð÷k‚ …u÷u‚ {kxu ðzkuËhk™k {nkhkò îkhk fÞk «ÏÞkŒ f÷kfkh …k‚u r[ºkku ŒiÞkh fhkðk{kt ykÔÞk nŒk?

(A) ™xðh÷k÷ ¼kð‚kh (B) yçËw÷ „Vqh ¾ºke

(C) hkò hrð ð{ko (D) hrðþtfh hkð¤

030. ™ð÷¾e ðkð ..........

(A) ÷û{e rð÷k‚ …u÷u‚ ðzkuËhk{kt ykðu÷e Au. (B) rðsÞ rð÷k‚ …u÷u‚ ¼kð™„h{kt ykðu÷e Au.

(C) «k„ {nu÷ fåA{kt ykðu÷e Au. (D) ™e÷{ƒk„ …u÷u‚ ¼kð™„h{kt ykðu÷e Au.

031. «r‚Ø nzÃ…eÞ {wÿk fu su{kt «kýeyku™e Y…hu¾kyku y™u r[öku Au, Œu …ÚÚkh fÞkt ™k{u yku¤¾kÞ Au?

(A) MxuxexT‚ (B) [q™k™ku …ÚÚkh

(C) xÙkðxkoR™ (D) yrø™f]Œ

032. nzÃ…eÞ ÷kufku „wshkŒ™k fÞk ¼k„{ktÚke nMŒf÷k Wí…kË™ {kxu fk™uor÷Þ™ …ÚÚkh suðe ‚k{„úe {u¤ðŒk nŒk?

(A) Äku¤kðehk (B) ¼Y[

(C) ÷kuÚk÷ (D) ‚whfkuxzk

033. ™e[u™k{ktÚke fÞwt y™ks nzÃ…eÞ MÚk¤kuyu «{ký{kt ¼køÞu s òuðk {¤Œwt nŒwt?

(A) ½ô y™u sð (B) Œ÷

(C) ƒkshe (D) [ku¾k

034. 1918{kt „ktÄeS „wshkŒ{kt ƒu [¤ð¤{kt ‚k{u÷ nŒk. yuf y{ËkðkË{kt {sqh [¤ð¤. su{kt fk…z r{÷ fk{Ëkhku
{kxu fk{ fhðk™e ‚khe rMÚkrŒ™e {kt„ nŒe. Œu{™e ƒeS [¤ð¤ fE nŒe?

(A) ¾uzk{kt ¾uzqŒku ‚kÚku Œu{™e ÷ýýe™e r™»V¤Œk™u …„÷u hkßÞ™u fh {kVe

(B) [t…khý{kt, ¾uzqŒku™k s{e™ ¼ku„ðxk nf™e ‚whûkk Œu{s Œu{™e …‚tË„e™k …kf™e ¾uŒe fhðk™e MðŒtºkŒk™e
{kt„ýe

(C) “hku÷ux yuõx” rðÁØ ËuþÔÞk…e Íwtƒuþ

(D) W…h™k{ktÚke yuf …ý ™rn

035. 1930{kt „ktÄeSyu {eXk™k ‚íÞk„ún {kxu nkf÷ fhe íÞkhu rƒúrxþ ðkR‚hkuÞ fkuý nŒk?

(A) ÷kuzo Rhrð™ (B) ÷kuzo nkrzoLs

(C) ÷kuzo rh…™ (D) ÷kuzo {kWLxƒux™
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027. The Indian Wild Ass Sanctuary in Gujarat is situated in _______.
(A) Little Rann of Kutch
(B) Vansda National Park in Navsari
(C) Jambughoda Wildlife Sanctuary in Vadodara
(D) Velavadar National Park in Bhavnagar

028. Surkotada in Kutch is known for _______.
(A) Remnants of Indus Valley Civilization
(B) Wildlife Sanctuary for barking deer
(C) Perlite production
(D) Shale Gas reserve

029. Paintings of which famous artist was commissioned by the Maharaja of Baroda for Laxmi
Vilas Palace?
(A) Natvar Bhavsar (B) Abdul Gafur Khatri
(C) Raja Ravi Verma (D) Ravishankar Raval

030. Navlakhi Stepwell is located in _______
(A) Laxmi Vilas Palace Boroda (B) Vijay Vilas Palace in Bhavnagar
(C) Prag Mahal in Kutch (D) Nilambagh Palace in Bhavnagar

031. The famous Harappan Seal that contains animal motifs and signs was made of a stone
called _______
(A) Steatite (B) Limestone
(C) Travertine (D) Igneous

032. The Harappans used to procure materials like Carnelian stone for craft production from which
part of Gujarat?
(A) Dholavira (B) Bharuch
(C) Lothal (D) Surkotada

033. Which among the following grains was found relatively rarely at Harappan sites?
(A) Wheat and barley (B) Sesame
(C) Millets (D) Rice

034. In 1918, Gandhiji was involved in two campaigns in Gujarat. One was in a labour dispute in
Ahmedabad, demanding better working conditions for the textile mill workers. What was his
second campaign?
(A) He joined peasants in Kheda in asking the state for the remission of taxes following the

failure of their harvest.
(B) In Champaran, demanding peasants’ security of tenure as well as the freedom to cultivate

the crops of their choice.
(C) Called for a countrywide campaign against the “Rowlatt Act”.
(D) None of the above

035. Who was the British Viceroy when Gandhi gave the clarion call for the “Salt March” in 1930?
(A) Lord Irwin (B) Lord Hardinge
(C) Lord Ripon (D) Lord Mountbatten
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036. ¼khŒ™k Yr…Þk™k «Œef (`)™e rzÍkR™ ..........

(A) 2010{kt ¼khŒeÞ rðîk™ y™u rzÍkR™h WËÞ fw{khu ŒiÞkh fhe nŒe.

(B) 2014{kt ¼khŒeÞ rðîk™ y™u rzÍkR™h «¼kŒ fw{khu ŒiÞkh fhe nŒe.

(C) 2015{kt ¼khŒeÞ yÚkoþkMºke h½whk{ hks™u ŒiÞkh fhe nŒe.

(D) 2013{kt y{urhf™ rzÍkR™h fu™uÚk RÍu ŒiÞkh fhe nŒe.

037. ¼khŒ {wÏÞíðu ™e[u™k{ktÚke fE f]r»k …uËkþku™e ykÞkŒ fhu Au?

(A) Œu÷erƒÞkt (B) ¾kãŒu÷

(C) fXku¤ (D) ½ô

038. ™e[u™k{ktÚke fÞwt “ðMŒe rðMVkux”™e ½x™k Ëuþ™e ðMŒe rð»kÞf …rhrMÚkrŒ ŒhV r™Ëuoþ fhu Au?

(A) sL{Ëh{kt ðÄkhku y™u Ÿ[ku {]íÞwyktf

(B) sL{Ëh{kt ðÄkhku y™u {]íÞwyktf{kt ½xkzku

(C) ™e[ku sL{yktf y™u {]íÞwËh{kt ðÄkhku

(D) sL{yktf{kt ½xkzku y™u {]íÞwËh{kt ðÄkhku

039. ¼khŒ rðï{kt ËqÄ Wí…kË™{kt .......... ¢{u Au.

(A) «Úk{ (B) ƒeò

(C) ºkeò (D) [kuÚkk

040. ‘…eyu{ (PM) „rŒ þrõŒ’ ..........

(A) hk»xÙeÞ Äkuhe{k„o (™uþ™÷ nkE-ðu)™k ƒktÄfk{ {kxu hk»xÙeÞ ƒ]nË Þkus™k (™uþ™÷ {kMxh Ã÷k™) Au.

(B) ðtËu ¼khŒ xÙu™ku™u Íz…e ƒ™kððk {kxu hk»xÙeÞ fkÞo Þkus™k (™uþ™÷ yuõþ™ Ã÷k™) Au.

(C) {Õxe {kuz÷ f™urõxrðxe {kxu hk»xÙeÞ ƒ]nË Þkus™k (™uþ™÷ {kMxh Ã÷k™) Au.

(D) ™Ëeyku òuzký {kxu hk»xÙeÞ fkÞo Þkus™k (™uþ™÷ yuõþ™ Ã÷k™) Au.

041. “÷kufþkne hksfeÞ ‚{k™Œk™k {q¤¼qŒ r‚ØktŒ …h ykÄkrhŒ Au.” yk rðÄk™™k ykÄkhu ™e[u™k{ktÚke fÞwt/fÞkt r™ðuË™/
r™ðuË™ku ‚k[wt/‚k[kt Au/Au?

I. Ëhuf …wÏŒ ™k„rhf …k‚u yuf {Œ nkuðku skuEyu y™u Ëhuf {Œ™wt yuf {qÕÞ nkuðwt òuEyu.

II. ÷kufþkne {wõŒ y™u r™»…ûk [qtxýe …h ykÄkrhŒ nkuðe òuEyu.

III. ÷kufþkne{kt ytrŒ{ r™ýoÞ ÷uðk™e ‚¥kk ÷kufku îkhk [qtxkÞu÷k ÷kufku …k‚u nkuðe òuEyu.

(A) VõŒ I (B) VõŒ II

(C) I y™u II ƒt™u (D) ƒÄkt s ‚k[kt Au.

042. fÞk Ëuþ™e [qtxýe «ýk÷e{kt MÚkkr™f ÷kufku™k {Œ™wt {qÕÞ ¼khŒeÞ {q¤™k ™k„rhfku fhŒkt ðÄw Au?

(A) ©e÷tfk (B) rVS

(C) {k÷rËÔ‚ (D) BÞk™{kh
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036. The Rupee symbol (`) of India was designed by _______

(A) The Indian academic and designer Udaya Kumar in 2010

(B) The Indian academic and designer Prabhat Kumar in 2014

(C) The Indian economist Raghuram Rajan in 2015

(D) The American designer Kenneth Ize in 2013

037. India mainly imports which among the following agricultural products?

(A) Oil seeds (B) Edible Oils

(C) Pulses (D) Wheat

038. The phenomenon of “population explosion” points towards which of the following situations in
the demography of a country?

(A) Increased birth rate and high death count

(B) Increased birth rate and the decreased death count

(C) Low birth count and increased death rate

(D) Decreased birth count and increased death rate

039. India ranks _______ in milk production in the world.

(A) First (B) Second

(C) Third (D) Fourth

040. The ‘PM Gati Shakti’ is _______

(A) National Master Plan for National High-Way Construction

(B) National Action Plan for Expediting Vande Bharat Trains

(C) National Master Plan for Multi-Modal Connectivity

(D) National Action Plan for River Connectivity

041. “Democracy is based on a fundamental principle of political equality.” Based on this statement,
which of the following assertions is/are correct?

I. Each adult citizen must have one vote and each vote must have one value.

II. A democracy must be based on a free and fair election.

III. In a democracy the final decision-making power must rest with those elected by the people.

(A) Only I (B) Only II

(C) Both I & II (D) All are correct

042. In which country’s electoral system does the indigenous people’s vote have more value than the
citizens of Indian origin?

(A) Sri Lanka (B) Fiji

(C) Maldives (D) Myanmar
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043. ¼khŒeÞ hk»xÙeÞ fkU„úu‚™k fÞk yrÄðuþ™{kt MðŒtºk ¼khŒ™wt ƒtÄkhý fuðwt nkuðwt òuEyu Œu™k …h [[ko ÚkE nŒe?

(A) ™k„…wh yrÄðuþ™ 1920 (B) fk™…wh yrÄðuþ™ 1925

(C) fhkt[e yrÄðuþ™ 1931 (D) {wtƒE yrÄðuþ™ 1934

044. ™e[u™k{ktÚke fkuý ‚e. hks„ku…k÷k[khe™e ‚kÚku MðŒtºk …kxeo™k MÚkk…f nŒk?

(A) f™iÞk÷k÷ {kýuf÷k÷ {w™þe (B) {e™w {‚kýe

(C) yu™. S. ht„k (D) Ëþo™ ®‚„

045. I (™uŒkyku)™u II (ƒtÄkhý™k r™{koý{kt ¼qr{fkyku) ‚kÚku ÞkuøÞ heŒu skuzku.

 I  II

a. {kuŒe÷k÷ ™unÁ i. ƒtÄkhý ‚¼k™k «{w¾

b. ƒe.ykh. yktƒuzfh ii. ƒtÄkhý ‚¼k™k ‚ÇÞ

c. hksuLÿ «‚kË iii. {w‚Æk ‚r{rŒ™k yæÞûk

d. ‚hkurs™e ™kÞzw iv. 1928{kt ¼khŒ {kxu ƒtÄkhý™ku {w‚Æku ŒiÞkh fÞkuo

(A) a - i, b - ii, c - iii, d - iv (B) a - iii, b - iv, c - ii, d - i
(C) a - iv, b - iii, c - i, d - ii (D) a - ii, b - i, c - iv, d - iii

046. I (ƒtÄkhý™k {k„oËþof {qÕÞku)™u II (Œu{™k yÚko) ‚kÚku ÞkuøÞ heŒu skuzku.

 I  II

a. ‚kðo¼ki{ i. ‚hfkh fkuE …ý Ä{o™e ŒhVuý fhþu ™nª.

b. «ò‚¥kkf ii. ÷kufku™u r™ýoÞ ÷uðk™ku ‚ðkuoå[ yrÄfkh Au.

c. ƒtÄwíð iii. hkßÞ™k ðzk [qtxkÞu÷k ÔÞrõŒ Au.

d. rƒ™‚kt«ËkrÞf iv. ÷kufkuyu ¼kE-ƒnu™™e su{ Sððwt skuEyu.

(A) a - ii, b - iii, c - iv, d - i (B) a - i, b - ii, c - iii, d - iv
(C) a - iii, b - iv, c - ii, d - i (D) a - iv, b - i, c - iii, d - ii

047. ™e[u™k{ktÚke fÞwt/fÞkt rðÄk™/rðÄk™ku ‚k[wt/‚k[kt Au?

I. {nkí{k „ktÄe ƒtÄkhý ‚¼k™k ‚ÇÞ ™ nŒk.

II. {nkí{k „ktÄe™k rð[khku, ÿrü y™u Ëþo™ (rV÷‚qVe)™u ƒtÄkhý ‚¼k™k ½ýk ‚ÇÞku îkhk y™w‚hðk{kt ykÔÞk nŒk.

(A) VõŒ I ‚k[wt Au. (B) I y™u II ƒt™u ‚k[kt Au.

(C) VõŒ II ‚k[wt Au. (D) I y™u II ƒt™u ‚k[kt ™Úke.

048. ™e[u™k{ktÚke fÞwt/fÞkt rðÄk™/rðÄk™ku ‚k[wt/‚k[kt Au?

I. ƒtÄkhý™wt fkÞo {q¤¼qŒ r™Þ{ku™u «Ëk™ fhðk™wt Au y™u ‚{ks{kt r™ýoÞ ÷uðk™e ‚¥kk fku™e …k‚u Au Œu M…ü
fhðk™wt Au.

II. ƒtÄkhý™wt fkÞo yu Au fu ‚hfkh Œu™k ™k„rhfku …h þwt ÷kËe þfu Œu™e fux÷ef {ÞkoËkyku r™ÄkorhŒ fhðe y™u ‚hfkh
õÞkhuÞ Œu{™wt WÕ÷t½™ ™ fhe þfu.

(A) VõŒ I ‚k[wt Au. (B) VõŒ II ‚k[wt Au.

(C) I y™u II ƒt™u ‚k[kt Au. (D) I y™u II ƒt™u ‚k[kt ™Úke.
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043. Which session of the Indian National Congress dwelt on how independent India’s constitution
should look like?

(A) The Nagpur session 1920 (B) The Kanpur session 1925

(C) The Karachi session 1931 (D) The Bombay session 1934

044. Beside C. Rajagopalachari, who among the following was the founder of the Swatantra Party?

(A) Kanhaiyalal Maniklal Munshi (B) Minoo Masani

(C) N.G. Ranga (D) Darshan Singh Pheruman

045. Match I (leaders) with II (roles in the making of the Constitution).

 I  II

a. Motilal Nehru i. President of the Constituent Assembly

b. B.R. Ambedkar ii. Member of the Constituent Assembly

c. Rajendra Prasad iii. Chairman of the Drafting Committee

d. Sarojini Naidu iv. Drafted a Constitution for India in 1928

(A) a - i, b - ii, c - iii, d - iv (B) a - iii, b - iv, c - ii, d - i

(C) a - iv, b - iii, c - i, d - ii (D) a - ii, b - i, c - iv, d - iii

046. Match I (guiding values of the Constitution) with II (their meaning).

 I  II

a. Sovereign i. The government will not favour any religion

b. Republic ii. People have the supreme right to make decisions

c. Fraternity iii. Head of the state is an elected person

d. Secular iv. People should live like brothers and sisters

(A) a - ii, b - iii, c - iv, d - i (B) a - i, b - ii, c - iii, d - iv

(C) a - iii, b - iv, c - ii, d - i (D) a - iv, b - i, c - iii, d - ii

047. Which statement(s) is/are correct?

I. Mahatma Gandhi was not a member of the Constituent Assembly.

II. Mahatma Gandhi’s ideas, vision, and philosophy were followed by many members of the
Constituent Assembly

(A) Only I is correct (B) Both I and II are correct

(C) Only II is correct (D) Both I and II are not correct

048. Which among the following statement(s) is/are correct?

I. The function of a constitution is to provide a set of basic rules and specify who has the power
to make decisions in a society.

II. The function of a constitution is to set some limits on what a government can impose on its
citizens and the government may never trespass them.

(A) Only I is correct (B) Only II is correct

(C) Both I and II are correct (D) Both I and II are incorrect
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049. ™e[u™k{ktÚke ¼khŒeÞ ƒtÄkhý™e fE rðþu»kŒkyku rƒúrxþ ƒtÄkhý{ktÚke y…™kððk{kt ykðe ™Úke?

(A) ‚hfkh™wt ‚t‚ËeÞ MðY…

(B) fkÞËk™k þk‚™™ku rð[kh

(C) yæÞûk™ku nkuÆku y™u Œu{™e ¼qr{fk

(D) MðŒtºkŒk, ‚{k™Œk y™u ƒtÄwíð™k r‚ØktŒku

050. ™e[u™k{ktÚke fÞwt/fÞkt rðÄk™/rðÄk™ku ‚k[wt/‚k[kt Au?

I. Ëuþ™k ƒtÄkhý îkhk {q¤¼qŒ yrÄfkhku™wt hûký y™u ¾kŒhe yk…ðk{kt ykðu Au.

II. {q¤¼qŒ yrÄfkh VõŒ ƒtÄkhý{kt ‚wÄkhku fhe™u s ƒË÷e þfkÞ Au.

(A) VõŒ I ‚k[wt Au. (B) VõŒ II ‚k[wt Au.

(C) I y™u II ƒt™u ‚k[kt Au. (D) I y™u II ƒt™u ‚k[kt ™Úke.

051. fuÃx™ y™u ‚ir™fku™wt 1200 ÔÞrõŒyku™wt sqÚk xÙu™{kt {w‚kVhe fhe hÌkwt Au. Ëh 15 ‚ir™fku {kxu yuf fuÃx™ nkuÞ Au. „úw…{kt
fuÃx™™e ‚tÏÞk fux÷e Au?

(A) 70 (B) 80

(C) 75 (D) 85

052. …kuMx ykurV‚{kt, ºký y÷„-y÷„ {qÕÞku™k MxuB…. Yk. 7, Yk. 8 y™u Yk. 10 ™k W…÷çÄ Au. [ku¬‚ hf{ fu su™k {kxu
fkuE MxuB… ¾heËe þfŒwt ™Úke ?

(A) 29 (B) 20

(C) 23 (D) 19

053. xku…÷e{kt ‚Vhs™™e ‚tÏÞk Ëh r{r™xu ƒ{ýe ÚkkÞ Au. òu xku…÷e yuf f÷kf{kt ‚Vhs™Úke ¼hu÷e nkuÞ, Œku xku…÷e
õÞkhu yzÄe ¼hu÷e nŒe?

(A) 55 r{r™x (B) 38 r{r™x

(C) 30 r{r™x (D) 59 r{r™x

054. {kun™ …k‚u ƒu „ýkt …ÚÚkh y™u ºký „ýkt r‚¬k ÚkR ™u fw÷ 70 Au. òu {kun™ …k‚u ykuAk{kt ykuAku yuf …ÚÚkh y™u
ykuAk{kt ykuAku yuf r‚¬ku nkuÞ, Œku {kun™ …k‚u hnu÷k r‚¬k™e ‚tÏÞk yk{ktÚke fE nkuE þfu?

(A) 11 (B) 12

(C) 13 (D) 15

055. þçË{k¤k™ku xwfzku 40 ‚urLx{exh ÷ktƒku Au. Œu ºký xwfzkyku{kt fk…ðk{kt ykðu Au. ‚kiÚke ÷ktƒku xwfzku {æÞ{ fË™k fhŒk
3 „ýku ÷ktƒku Au y™u ‚kiÚke ™k™ku xwfzku ‚kiÚke ÷ktƒku xwfzku fhŒk 23 ‚urLx{exh ™k™ku Au. ‚kiÚke xqtfk ¼k„™e ÷tƒkE þkuÄku
(‚u.{e.{kt).

(A) 9 ‚u.{e. (B) 6 ‚u.{e.

(C) 27 ‚u.{e. (D) 4 ‚u.{e.

056. ¼hðkz …k‚u 17 ½uxkt Au. ™ð r‚ðkÞ ƒÄk {]íÞw …kBÞk. Œu™e ‚kÚku fux÷kt ½uxkt ƒåÞkt?

(A) 6 (B) 8

(C) 7 (D) 9
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049. Which among the following features of the Indian Constitution is NOT adopted from the British
Constitution?

(A) Parliamentary Form of Government

(B) The idea of the rule of law

(C) Institution of the Speaker and her/his role

(D) Principles of Liberty, Equality and Fraternity

050. Which statement(s) is/are correct?

I. The Fundamental Rights are protected and guaranteed by the constitution of the country.

II. The Fundamental Right may only be changed by amending the Constitution itself.

(A) Only I is correct (B) Only II is correct

(C) Both I and II are correct (D) Both I and II are incorrect

051. A group of 1200 persons consisting of captains and soldiers is travelling in a train. For every 15
soldiers there is one captain. The number of captains in the group is?

(A) 70 (B) 80

(C) 75 (D) 85

052. In a post office, stamps of three different denominations of Rs. 7, Rs. 8 and Rs. 10 are available.
The exact amount for which one cannot buy stamps is:

(A) 29 (B) 20

(C) 23 (D) 19

053. The number of apples in a basket doubles every minute. If the basket is full of apples in an hour,
when was the basket half-filled?

(A) 55 minutes (B) 38 minutes

(C) 30 minutes (D) 59 minutes

054. Twice the number of stones and thrice the number of coins with Mohan are 70. If Mohan has at
least one stone and at least one coin, then which of these could be the number of coins that
Mohan has?

(A) 11 (B) 12

(C) 13 (D) 15

055. A piece of string is 40 centimetres long. It is cut into three pieces. The longest piece is 3 times as
long as the middle-sized and the shortest piece is 23 centimetres shorter than the longest piece.
Find the length of the shortest piece (in cm).

(A) 9 cm. (B) 6 cm.

(C) 27 cm. (D) 4 cm.

056. A Shepherd has 17 sheep. All but nine died. How many sheep left with him?

(A) 6 (B) 8

(C) 7 (D) 9
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057. A ytfku™e ‚kiÚke {kuxe ð„o ‚tÏÞk þwt Au?

(A) 988001 (B) 990901

(C) 998001 (D) 999001

058. 2359 ™e ™Sf™e ‚t…qýo ð„o ‚tÏÞk þwt Au?

(A) 2348 (B) 2402

(C) 2304 (D) 2401

059. ƒu-ytf™e ‚tÏÞk y™u ytfku™u ƒË÷e™u {u¤ðu÷e ‚tÏÞk ðå[u™ku ŒVkðŒ 63 Au. ‚tÏÞk™k ƒu ytfku ðå[u þwt ŒVkðŒ Au?

(A) 6 (B) 7

(C) 8 (D) 9

060. yuf …q÷ 30 {exh ÷ktƒku, 10 {e. …nku¤ku y™u 5 {e. Ÿzku Au. Œu™k VT÷kuh y™u rËðk÷™u r‚{uLx fhðk™e ®f{Œ Yk. 10
«rŒ [kuh‚ {exh ™k Ëhu þkuÄku...

(A) Yk. 700 (B) Yk. 7000

(C) Yk. 1500 (D) Yk. 15000

061. 50 rðãkÚkeoyku ‚¤t„ ƒksw{kt ƒuXk Au. hk{™wt MÚkk™ zkƒuÚke 15{wt y™u srŒ™™wt s{ýuÚke 12{wt MÚkk™ Au. h{uþ™wt MÚkk™
srŒ™™e zkƒe ƒkswyu …kt[{wt Au. hk{ y™u h{uþ ðå[u fux÷k rðãkÚkeoyku Au?

(A) 17 (B) 18

(C) 15 (D) 16

062. ‚kŒ r{ºkku {eþk, ®{þw, {kune, r«Þk, ðeh, …he y™u r¢»ke{ktÚke Ëhuf™e Ÿ[kE y÷„-y÷„ Au. f]»ke {kºk ºký sýÚke
ô[e Au. …he {kºk ðeh fhŒk ô[e Au. {eþk ®{þw fhŒk ô[e Au …ý {kuneÚke ™Úke. r«Þk {kune fhŒk ô[e Au. Œu{™e
ðå[u fkuý ‚kiÚke Ÿ[wt Au?

(A) f]r»k (B) {kune

(C) ®{þw (D) r«Þk

063. ™e[u™k{ktÚke y÷„ …zŒe ‚ktÏÞk fE Au?

3, 7, 13, 20, 31, 43, 57

(A) 7 (B) 20

(C) 31 (D) 43

064. yuf {ký‚u 7 f÷kf{kt 80 rf{e™wt ytŒh fkÃÞwt. ytþŒ: 8 rf{e/f÷kf ™k Ëhu [k÷ðkÚke. y™u ytþŒ: ‚kÞf÷ …h
16 rf{e/f÷kf™e Íz…u. [k÷ðkÚke ytŒh þkuÄku?

(A) 28 rf{e. (B) 30 rf{e.

(C) 32 rf{e. (D) 33 rf{e.

065. þk¤k™ku ‚uLxÙ÷ nku÷ 18 {exh ÷ktƒku y™u 12.5 {exh …nku¤ku Au. rËðk÷ku™e ™Sf 50 ‚u.{e. …nku¤e …èe™u ¾wÕ÷e
hk¾e™u VT÷kuh …h fk…uox ™k¾ðk™e Au. ¾wÕ÷k ¼k„™wt ûkuºkV¤ þkuÄku?

(A) 5.5 [kuh‚ {exh (B) 6 [kuh‚ {exh

(C) 29.5 [kuh‚ {exh (D) 15 [kuh‚ {exh
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057. What is the largest square number of six digits?

(A) 988001 (B) 990901

(C) 998001 (D) 999001

058. What is the nearest perfect square number to 2359?

(A) 2348 (B) 2402

(C) 2304 (D) 2401

059. The difference between two-digit number and the number obtained by interchanging the digits
is 63. What is the difference between the two digits of the number?

(A) 6 (B) 7

(C) 8 (D) 9

060. A pool is 30 m. long, 10 m. broad and 5 m. deep. Find the cost of cementing its floor and its wall
at the rate of Rs. 10 per square meter.

(A) Rs. 700 (B) Rs. 7000

(C) Rs. 1500 (D) Rs. 15000

061. 50 students are sitting side by side in a row. Ram’s place is 15th from left and Jatin’s 12th from
right. Ramesh’s place is fifth to the left of Jatin. How many students are there between Ram
and Ramesh?

(A) 17 (B) 18

(C) 15 (D) 16

062. Each of the seven friends Misha, Minshu, Mohi, Priya, Veer, Pari and Krishi, has different
height. Krishi is taller than only three people. Pari is taller than only Veer. Misha is taller than
Minshu but not Mohi. Priya is taller than Mohi. Who is tallest among them?

(A) Krishi (B) Mohi

(C) Minshu (D) Priya

063. Find the odd one out:

3, 7, 13, 20, 31, 43, 57

(A) 7 (B) 20

(C) 31 (D) 43

064. A man travelled a distance of 80 km in 7 hrs. partly by walk at a rate of 8 km/h. and partly on
bicycle at 16 km/h. find the distance travelled by walk?

(A) 28 km. (B) 30 km.

(C) 32 km. (D) 33 km.

065. The central hall of a school is 18m long and 12.5m wide. A carpet is to be laid on the floor
leaving a strip 50 cm wide near the walls, uncovered. Find the area of the uncovered portion?

(A) 5.5 sq. m (B) 6 sq. m

(C) 29.5 sq. m (D) 15 sq. m
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066. {™kusu yuf …wMŒf™ku 2/8 ¼k„ ðktåÞku nŒku. yksu Œuýu 12 …k™k ðktåÞk. òu …wMŒf™kt 72 …k™kt ƒkfe nkuÞ Œku Œu …wMŒf{kt
fux÷kt …k™kt Au?

(A) 222 (B) 112

(C) 132 (D) 114

067. yk…u÷ {krnŒe™ku fk¤S…qðof yÇÞk‚ fhku y™u ™e[u™k «§™ku sðkƒ yk…ku.

8 ‚n…kXeyku™k sqÚk, 4 Akufhkyku H, I, J y™u K y™u 4 Akufheyku D, E, F y™u G yu ÷t[ ƒúuf Ëhr{Þk™ fkuVe …eðk
{kxu hkWLz xuƒ÷ …h ƒu‚ðk™wt ™¬e fÞwO. Œuyku yuðe heŒu ƒuXk Au fu:

1. Œu ƒÄk ™wt {w¾ yufƒeò™e ‚k{u Au.

2. fkuE ƒu Akufheyku fu Akufhkyku ƒksw{kt ƒuXk ™Úke.

3. J yu D y™u G ðå[u Au y™u I ™e ‚k{u {w¾ Au.

4. E, su K y™u I ðå[u ƒuXu÷wt Au, Œu D™e ‚k{u {w¾ Au.

5. H yu F ™ku Œkífkr÷f s{ýe ƒksw Au.

K ™e ‚k{u fkuý ƒuXwt Au?
(A) D (B) H
(C) I (D) F

068. EMMULATE þçË™k «Úk{, ºkeò, …kt[{k y™u Aêk yûkhku ‚kÚku Ëhuf þçË{kt yuf ðkh Ëhuf yûkh™ku W…Þku„
fhe™u fux÷k yÚko…qýo yt„úuS þçËku ƒ™kðe þfkÞ?

(A) yuf (B) ºký

(C) [kh (D) ƒu

069. ™e[u™k [kh{ktÚke ºký þçËku [ku¬‚ heŒu ‚h¾k Au y™u yuf y÷„ Au. y÷„ þçË …‚tË fhku.

(A) „ku„÷ì‚ (B) M…uõxufÕ‚

(C) ƒkÞVkuf÷ (D) ykurÃxf÷ hezh

070. ƒeS x{o «Úk{ x{o ‚kÚku ‚tƒtrÄŒ Au Œuðe s heŒu ºkeò …Ë ‚kÚku ‚tƒtrÄŒ rðfÕ… …‚tË fhku.

IVORY : ZWSPJ :: CREAM : ?

(A) NFDQB (B) SNFDB
(C) DSFCN (D) BQDZL

071. òu (5x + 2) < (8x – 1) y™u (7x – 2) > 3(x + 6). x (x  N) ™ku ‚kuÕÞwþ™ ‚ux þwt nþu

(A) {2, 3, 4, 5} (B) N
(C) {5, 6, 7, 8} (D) {5, 6, 7, 8, …}

072. Þwr™ðr‚oxe{kt [kh {wÏÞ rð¼k„ku Au: yurLsr™Þ®h„, {k™ðŒk, ÔÞð‚kÞ y™u rð¿kk™. Ëhuf rð¼k„™ku …kuŒk™ku MxkV
nkuÞ Au, su™wt rðŒhý ™e[u {wsƒ Au: yurLsr™Þ®h„ rð¼k„ 1200 ÔÞrõŒyku™u hkus„khe yk…u Au, su Þwr™ðr‚oxe™k fw÷
MxkV™k 30% rnM‚ku Ähkðu Au. {k™ðŒk rð¼k„{kt fw÷ MxkV™k 20%™ku ‚{kðuþ ÚkkÞ Au. ™k™k fË {kxu òýeŒk
rƒÍ™u‚ rð¼k„{kt 800 MxkV ‚ÇÞku Au. ƒkfe™k f{o[kheyku rð¿kk™ rð¼k„{kt fkÞohŒ Au. yurLsr™Þ®h„ rð¼k„{kt
rð¿kk™ rð¼k„{kt MxkV™k ‚ÇÞku™k „wýku¥kh™e „ýŒhe fhku.

(A) 1:1 (B) 2:3

(C) 3:2 (D) 1:2
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066. Manoj had read 2/8 of a book. Today he read 12 pages. If 72 pages of the book are left then how
many pages are there in that book?
(A) 222 (B) 112
(C) 132 (D) 114

067. Study the given information carefully and answer the question that follows.
A group of 8 classmates, 4 boys H, I, J and K and 4 girls D, E, F and G decided to sit at a around
table to have coffee, during the lunch break. They are sitting in such a way that:
1. All of them are facing each other.
2. No two girls or boys are sitting side by side.
3. J is between D and G and is facing I.
4. E, who is sitting between K and I, is facing D.
5. H is the immediate right of F.
Who is sitting in front of K?
(A) D (B) H
(C) I (D) F

068. How many meaningful English words can be formed with the first, the third, the fifth and the
sixth letters of the word EMMULATE, using each letter once in each word?
(A) One (B) Three
(C) Four (D) Two

069. Three of the following four words are alike in a certain way and one is different. Select the odd
one.
(A) Goggles (B) Spectacles
(C) Bifocal (D) Optical Reader

070. Select the option that is related to the third term in the same way as the second term is related
to the first term.
IVORY : ZWSPJ :: CREAM : ?
(A) NFDQB (B) SNFDB
(C) DSFCN (D) BQDZL

071. If (5x + 2) < (8x – 1) and (7x – 2) > 3(x + 6). What will be solution set of x (x  N)
(A) {2, 3, 4, 5} (B) N
(C) {5, 6, 7, 8} (D) {5, 6, 7, 8, …}

072. A university has four major departments: Engineering, Humanities, Business, and Science.
Each department has its own staff, distributed as follows: The engineering department employs
1200 individuals, which account for 30% of the university’s total staff. The humanities
department comprise of 20% of the total staff. The business department, known for its smaller
size, has 800 staff members. The remaining staff members are employed in science department.
Calculate the ratio of staff members in the engineering department to those in the science
department.
(A) 1:1 (B) 2:3
(C) 3:2 (D) 1:2
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073. yuf ft…™e{kt fk{ fhŒk 10 f{o[kheyku™ku ‚huhkþ {kr‚f …„kh Yk. 6835 y™u Œu{ktÚke 3 {rn÷k f{o[kheyku™ku
‚huhkþ {kr‚f …„kh Yk. 5428. ƒkfe™k 7 f{o[kheyku™ku ‚huhkþ {kr‚f …„kh fux÷ku Au?

(A) 6550 (B) 6845

(C) 7238 (D) 7438

074. òu ƒu y™¼e™Œ A ƒksw ðk¤e zkR‚ VUfðk{kt ykðu Œku, ƒt™u zkR‚ …h™e ‚tÏÞkyku™ku ‚hðk¤ku yu 5 fhŒk {kuxe
yrð¼kßÞ ‚tÏÞk nkuðk™e ‚t¼kð™k fux÷e Au?

(A) 2/9 (B) 1/9

(C) 1/3 (D) 15/36

075. ÷tƒ[kuh‚ xƒ™ku fýo 25 Vqx Au. òu xqtfe ƒksw 15 Vqx nkuÞ, Œku xƒ™ku rðMŒkh þkuÄku.

(A) 420 [kuh‚ Vqx (B) 300 [kuh‚ Vqx

(C) 360 [kuh‚ Vqx (D) 240 [kuh‚ Vqx

076. y™¼e™Œ ™ nkuÞ Œuðe zkR‚{kt Œu™k …h 1 Úke 6 ‚wÄe™e ‚tÏÞkyku ÷¾u÷e nkuÞ Au. ßÞkhu yk zkR‚ VUfðk{kt ykðu íÞkhu
1 ™e ½x™k™e ‚t¼kð™k rƒ™-Ä™ ‚tÏÞk Au. {kxu 2 Úke 6 ‚wÄe™e yk 5 ™tƒhku ™e ‚t¼kð™k ‚{k™ Au. yk zkR‚ yufðkh
VUfðk{kt ykðu Au. zkR‚ …h yufe ‚tÏÞk Ëu¾kÞ Œuðe ‚t¼kð™k fux÷e Au?

(A) 1/5 (B) 2/5

(C) 1/2 (D) 2/3

077. AP 25, 20, 15, ... ™ku fÞku …Ë «Úk{ Éý þçË Au?

(A) 9{e (B) 8{e

(C) 7{e (D) 10{e

078. òu 1.2:3.9 :: 2:a, Œku a ™e ®f{Œ þkuÄku.

(A) 6.5 (B) 6.9

(C) 6.3 (D) 6.1

079. ºký ‚tÏÞkyku™ku ‚hðk¤ku 106 Au. «Úk{Úke ƒeS™ku „wýku¥kh 5:6 Au y™u ƒeSÚke ºkeS™ku „wýku¥kh 9:10 Au. ƒeòu
™tƒh þkuÄku.

(A) 54 (B) 27

(C) 18 (D) 36

080. òu {wÆ÷ Y. 5000/- 8 ð»ko{kt Y.10000/- ƒ™u Au. Œku çkUf{kt ‚kËk ÔÞks™ku Ëh þwt Au?

(A) 12.5% (B) 20%

(C) 15% (D) 10%
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073. The average monthly salary of 10 employees working in a company is Rs. 6835 and the average
monthly salary of 3 women employees among them is Rs. 5428. What is the average monthly
salary of the rest 7 employees?

(A) 6550 (B) 6845

(C) 7238 (D) 7438

074. If two unbiased six face dice are thrown, what is the probability that the sum of the numbers on
both the faces turned up, is a prime number greater than 5?

(A) 2/9 (B) 1/9

(C) 1/3 (D) 15/36

075. The diagonal of a rectangular tub is 25 feet. If the shorter side is 15 feet, then find the area of the
tub.

(A) 420 sq feet (B) 300 sq. feet

(C) 360 sq. feet (D) 240 sq. feet

076. A biased dice has numbers from 1 to 6 written on its faces. The probability of occurrence of 1
when this dice is thrown is a non-positive number. The probability of occurrence of numbers
from 2 to 6 is same for these 5 numbers. This dice is thrown once. What is the probability that
an odd number appears on the dice?

(A) 1/5 (B) 2/5

(C) 1/2 (D) 2/3

077. Which term of the AP 25, 20, 15, ... is the first negative term?

(A) 9th (B) 8th

(C) 7th (D) 10th

078. If 1.2 : 3.9 : : 2 : a, then find the value of a.

(A) 6.5 (B) 6.9

(C) 6.3 (D) 6.1

079. The sum of three numbers is 106. The ratio of the first to second is 5:6 and that of second to
third is 9:10. Find the second number.

(A) 54 (B) 27

(C) 18 (D) 36

080. What is the rate of simple interest in a bank if the principal amount of Rs. 5000 becomes Rs.
10000 in 8 years?

(A) 12.5% (B) 20%

(C) 15% (D) 10%
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081. ƒÄe òuzýe ‚k[e nkuÞ Œuðku rðfÕ… …‚tË fhku.

1. fr‚Ëku, fki‚ÕÞk, „útÚkkð÷e, xuxut, ðe[e

2. f‚eËku, fkiþÕÞk, „útÚkkð÷e, xutxut, rð[e

3. frþËku, fkiþÕÞk, „útÚkkðr¤, xuxu, ðe[e

4. fþeËku, fki‚ÕÞk, „útÚkkðr÷, xutxut, rðr[

(A) VõŒ 1 ‚k[wt Au. (B) VõŒ 2 ‚k[wt Au.

(C) VõŒ 2 y™u 4 ‚k[k Au. (D) VõŒ 2 y™u 3 ‚k[k Au.

082. ™e[u yk…u÷kt sqÚk æÞk™u ÷E ‚{k™kÚkeo þçËku rðþu ÞkuøÞ rðfÕ… …‚tË fhku.

1. rðhkð, æðr™, yðks, ½ku»k

2. yufktŒ, rðrðõŒ, yufkfe, yuf÷wt

3. rðŒÚk, rðËÚk, ykðzŒ, ¿kk™

4. rð¼k, rfhý, hr~{, {he[e

(A) VõŒ 1 y™u 2 ÞkuøÞ Au. (B) VõŒ 3 y™u 4 ÞkuøÞ Au.

(C) VõŒ 1, 3 y™u 4 ÞkuøÞ Au. (D) 1, 2, 3 y™u 4 ÞkuøÞ Au.

083. ™e[u yk…u÷kt sqÚk æÞk™u ÷E rðÁØkÚke þçËku rðþu ÞkuøÞ rðfÕ… …‚tË fhku.

1. rðð]¥k  ‚tfwr[Œ 2. æðktŒ  Wòþ 3. r™ŒktŒ  æðktŒ 4. LÞq™Œk  Wå[Œk

(A) VõŒ 1 ÞkuøÞ Au. (B) VõŒ 1 y™u 2 ÞkuøÞ Au.

(C) VõŒ 1, 3 y™u 4 ÞkuøÞ Au. (D) VõŒ 1 y™u 4 ÞkuøÞ Au.

084. ™e[u yk…u÷k YrZ«Þku„ y™u Œu™k yÚko {kxu ÞkuøÞ rðfÕ… …‚tË fhku.

 YrZ«Þku„         yÚko

1. y¾kzk fhðk = ðkŒ æÞk™{kt ™ ÷uðe

2. ykt¾ ykzk fk™ fhðk = ðkŒ æÞk™{kt ™ ÷uðe

3. fk™ Œ¤u fkZðwt = ðkŒ æÞk™{kt ™ ÷uðe

4. fk™u ™ Ähðwt = ðkŒ æÞk™{kt ™ ÷uðe

(A) VõŒ 1,2 y™u 4 ÞkuøÞ Au. (B) VõŒ 2 y™u 3 ÞkuøÞ Au.

(C) VõŒ 2, 3 y™u 4 ÞkuøÞ Au. (D) 1, 2, 3 y™u 4 ƒÄk s ÞkuøÞ Au.

085. ™e[u yk…u÷e fnuðŒku™u æÞk™u ÷E Œu™k rðþu ‚k[ku rðfÕ… …‚tË fhku.

1. {™ nkuÞ Œku {k¤ðu sðkÞ

2. ½hzkt „kzkt ðk¤u

3. ‚kXe ƒwrØ ™kXe

4. …kfu ½zu fktXk ™ [zu

(A) 3 y™u 4 ‚{k™kÚkeo fnuðŒku Au, 1 y™u 4 rðÁØkÚkeo fnuðŒku Au.

(B) 1 y™u 2 ‚{k™kÚkeo fnuðŒku Au, 2 y™u 4 rðÁØkÚkeo fnuðŒku Au.

(C) 1 y™u 4 ‚{k™kÚkeo fnuðŒku Au, 2 y™u 3 rðÁØkÚkeo fnuðŒku Au.

(D) 1 y™u 3 ‚{k™kÚkeo fnuðŒku Au, 1 y™u 2 rðÁØkÚkeo fnuðŒku Au.

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight



BII  - MASTER ] 23 P.T.O.

086. ™e[u yk…u÷k ‚k{kr‚f þçË y™u Œu™k «fkh rðþu ÞkuøÞ rðfÕ… …‚tË fhku.

 ‚k{kr‚f þçË -  «fkh

1. ™e÷ku…÷ - f{oÄkhÞ ‚{k‚

2. Œr¤ÞkÍkxf -  {æÞ{…Ë÷ku…e ‚{k‚

3. ðe‚™nkuhe - ƒnwðúern ‚{k‚

4. ™ðr™{koý - rî„w ‚{k‚

(A) VõŒ 1 y™u 3 ÞkuøÞ Au.

(B) VõŒ 2 y™u 3 ÞkuøÞ Au.

(C) VõŒ 1, 2, y™u 3 ÞkuøÞ Au.

(D) 1, 2, 3 y™u 4 ƒÄk s ÞkuøÞ Au.

087. ™e[u yk…u÷e ‚trÄ rðþu ‚k[ku rðfÕ… …‚tË fhku.

1. s„ŒT + s™™e = s„ßs™™e

2. s„ŒT + {kŒk = s„L{kŒk

3. Œ™w + yt„e = íkLðtøke

4. s„ŒT + ™kÚk = s„ÒkkÚk

(A) VõŒ 1 y™u 2 ‚k[k Au.

(B) VõŒ 1 y™u 3 ‚k[k Au.

(C) 1, 2, 3 y™u 4 ƒÄk s ‚k[k Au.

(D) 1, 2, 3 y™u 4 ƒÄk s ¾kuxk Au.

088. ™e[u yk…u÷e fkÔÞ-…trõŒ™u æÞk™u ÷E yu™k AtË™k «fkh™ku ÞkuøÞ rðfÕ… …‚tË fhku.

1. ‘¼qÏÞkt-s™ku™ku sXhkrø™ ò„þu,
¾tzuh™e ¼M{fýe ™ ÷kÄþu.’

2. ‘fËe yr¼{k™ fhu s™ fkuÞ,
nòh ð‚k n÷fku ƒnw nkuÞ.’

3. ‘~Þk{ [hý M{hý r{ºk, ‚h‚ heŒ ‚k[e;
Œu rð™k rºk÷kuf {æÞ , ¢kuz ðkŒ fk[e.’

4. ‘ËeXku Œ™u nt‚™e nkh {ktnu,
ËeXku y»kkZe s÷Äkh {ktnu.’

(A) 1. ELÿð@k,   2. {kuŒeËk{,   3. {neËe…,   4. ELÿðtþk

(B) 1. ELÿðtþk,   2. {kuŒeËk{,   3. {neËe…,   4. ELÿð@k

(C) 1. ELÿðtþk,   2. {neËe…,   3. {kuŒeËk{,   4. ELÿð@k

(D) 1. ELÿð@k,   2. {kuŒeËk{,   3. {neËe…,   4. W…uLÿð@k
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089. ™e[u yk…u÷e fkÔÞ-…trõŒ™u æÞk™u ÷E yu™k y÷tfkh™k «fkh {kxu ÞkuøÞ rðfÕ… …‚tË fhku.

1. ‘fkÞk ft[™ ‚{e ƒ[…ýÚke Ëefhk {kyu su ½ýe ‚t¼k¤e.’

2. ‘{khk Sð™™e ðkze{kt Vq÷ku r¾÷Œkt,
yu Œku Ëw:¾ku fuhk Œzfk r™íÞu Íe÷Œkt.’

3. ‘yk ykí{k yuf rË™ ÷uðkþu,
yu hkÏÞku fkuE™ku ™net hnuþu,
nu.. Œkhe ¼kzk™e fkuxze ¾k÷e Úkþu.’

4. ‘Œkhe suðe yuf Œwt s nu s™™e!’

(A) 1. W…{k,   2. Y…f,   3. yrŒþÞkurõŒ,   4. W…{k

(B) 1. W…{k,   2. yrŒþÞkurõŒ,   3. Y…f,   4. y™LðÞ

(C) 1. W…{k,   2. Y…f,   3. yrŒþÞkurõŒ,   4. y™LðÞ

(D) 1. W…{k,   2. ~÷u»k,   3. Y…f,   4. W…{k

090. ™e[u™e rð„Œku™u æÞk™u ÷E ÞkuøÞ rðfÕ… …‚tË fhku.

1. ‚trÄ : r¼»ksT + hks = r¼»k„úks

2. f{oÄkhÞ ‚{k‚ - ¾z{ku‚k¤

3. ‚Sðkhku…ý y÷tfkh - {™w»Þ{kt Ä™™ku Œ]»ýk ðkÞw çnufe hÌkku Au.

4. YrZ«Þku„™k yÚko™ku yÚko : {kuxu …kx÷u ƒu‚ðwt = Ÿ[k …Ëu ƒu‚ðwt

(A) VõŒ 1 y™u 2 ‚k[k Au. (B) VõŒ 1, 2 y™u 3 ‚k[k Au.

(C) VõŒ 2 y™u 4 ‚k[k Au. (D) VõŒ 4 ‚k[wt Au.

091. _______ Ganga is _______ sacred river.

(A) No article / the (B) The / the

(C) The / a (D) No article / No article

092. Either the manager or his assistant failed in _______ duty.

(A) his (B) their

(C) her (D) the
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093. In course _______ time he realised his mistake.

(A) of (B) to

(C) off (D) on

094. This is the house _______ Jack built.

(A) which (B) whom

(C) what (D) that

095. I shall wait till you _______ your lunch.

(A) finished (B) finish

(C) have finished (D) will finish

096. _______ you lend me your scooter, please?

(A) Would (B) Shall

(C) Will (D) Can

097. They made him king. (Change the voice)

(A) King made by them (B) He was made king

(C) He has been made king (D) King has been made by them

098. Had you not informed me, I _______ missed the flight.

(A) will have (B) would have

(C) shall have (D) could have

099. I saw the lion _______ the prey.

(A) catching (B) catches

(C) caught (D) had caught

100. There is only _______ sugar in the jar.

(A) little (B) afew

(C) a little (D) few
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101. The principle of ‘working from whole to part’ is used in surveying because

(A) Plotting become easy (B) Survey work can be completed quickly

(C) Accumulation of errors is prevented (D) All of the above

102. Theory of errors and adjustments deals with minimizing the effects of

(A) Instrumental errors (B) Mistakes

(C) Systematic errors (D) Personal and accidental errors

103. The horizontal angle between the true meridian and magnetic meridian at a place is called

(A) Azimuth (B) Declination

(C) Local attraction (D) Magnetic bearing

104. Pickup the non-inflammable plastic from the following?

(A) Urea formaldehyde plastics (B) Cellulose acetate plastics

(C) Phenol formaldehyde plastics (D) Polyvinyl chloride plastics

105. Assertion (A):Black cotton soils, classified as clays, display the distinctive behavior of swelling.

Reason (R): This behavior is attributed to the presence of Montmorillonite in these clays,
which draws external water into its lattice structure.

(A) Both A and R are true and R is not the correct explanation of A

(B) A is true but R is false

(C) A is false but R is true

(D) Both A and R are true and R is the correct explanation of A

106. A soil sample having a void ratio of 1.3, water content of 50% and a specific gravity of 2.60, is in
a state of ?

(A) Under saturation (B) Full saturation

(C) Over saturation (D) Partial saturation

107. In levelling survey, with the rise of temperature, the sensitivity of a bubble tube

(A) Decreases (B) Increases

(C) Remains unaffected (D) None of the above

108. The process of putting the plane table into some fixed position so that a line representing a
certain direction on the plane is parallel to that direction in the field is known as

(A) Orientation (B) Resection

(C) Intersection (D) Levelling

109. Over-consolidation ratio is the ratio of?

(A) Maximum past effective consolidation stress to the present effective overburden stress

(B) Minimum normal stress to the shear stress

(C) Effective stress to the residual stress

(D) Overburden stress to the tangential stress
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110. An assembly of overlapping photographs is known as

(A) Three dimensional view (B) Natural view

(C) Multi projection (D) Mosaics

111. A loose sand deposit about 20 m deep from the ground surface is to be densified. Which method
will be most suitable?

(A) Using a heavy vibratory roller at the surface

(B) Dynamic compaction

(C) Vibro compaction

(D) Needle vibrator

112. At a point on the equator, the angle of dip is

(A) 180° (B) 90°

(C) 60° (D) Zero

113. When the allowable bearing capacity of soil is low and the building loads are heavy, the footing
used is _______.

(A) Strap footing (B) Raft footing

(C) Rectangular combined footing (D) Trapezoidal combined footing

114. The most commonly used sampler for obtaining a disturb sample of the soil is

(A) Split spoon sampler (B) Open drive sampler

(C) Piston sampler (D) Thin wall shell tube sampler

115. The compaction factor test of cement concrete determines its

(A) Strength (B) Porosity

(C) Degree of compaction under loads (D) Workability

116. Sand drains are used to:

(A) Reduce the settlement (B) Accelerate the consolidation

(C) Increases the permeability (D) Transfer the load

117. The most difficult thing in a sand tank model is to ensure?

(A) Saturation (B) Homogeneity

(C) Isotropy (D) Uniform packing

118. Which test is most preferable to study Soil dispersibility (susceptibility to colloidal erosion)?

(A) Pycnometer bottle test (B) Pinhole test

(C) Liquid limit test (D) Shrinkage limit test

119. Honey-combed structure is found in

(A) Gravels (B) Coarse sand

(C) Fine sand and silt (D) Clay
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120. The effective stress in soil is

(A) Actual contact stress (B) An abstract quantity

(C) Equal to total stress (D) None of the above

121. Which parameter indicates water yielding capacity of an unconfined aquifer?

(A) Seepage velocity (B) Discharge velocity

(C) Storage coefficient (D) Specific yield

122. Geologic cycle for the formation of soil, is

(A) Upheavel  transportation  deposition  weathering

(B) Weathering  upheaval  transportation  deposition

(C) Transportation  upheaval  weathering  deposition

(D) Weathering  transportation  deposition  upheaval

123. The ratio of settlement at any time ‘t’ to the final settlement, is known as

(A) Co-efficient of consolidation (B) Degree of consolidation

(C) Consolidation index (D) Consolidation of undisturbed soil

124. The Westerguard analysis is used for

(A) Homogeneous soils (B) Cohesive soils

(C) Sandy soils (D) Stratified soils

125. When consolidation of a saturated soil sample occurs, the degree of saturation

(A) Increases (B) Decreases

(C) Remains constant (D) May increases or decreases

126. The void ratio of a soil sample decreases from 1.50 to 1.25 when the pressure is increased from
25 kPa to 50 kPa, the coefficient of compressibility is?

(A) 0.01 (B) 0.02

(C) 0.05 (D) 0.001

127. What is the ultimate bearing capacity at the ground surface according to Terzaghi’s theory for
a strip footing with a smooth base on purely cohesive soil?

(A) 5.17c (B) 5.14c

(C) 6.2c (D) 5.7c

128. The moisture content of a soil below which the soil volume becomes constant is called the

(A) Liquid limit (B) Plastic limit

(C) Shrinkage limit (D) None of the above

129. The zone of aeration in a ground profile does not include

(A) Capillary zone (B) Soil water zone

(C) Intermediate zone (D) Saturation zone
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130. As per IS 4434, field vane shear is highly appropriate for determining the shear strength of
which soils which are highly susceptible to sample disturbances?

(A) Sands (B) Saturated Clays

(C) Gravel (D) Highly Organic Soils

131. Standard penetration resistance in very stiff clays lies between

(A) 2-4 (B) 4-8

(C) 8-15 (D) 15-30

132. A pycnometer is used to determine

(A) Water content and voids ratio (B) Specific gravity and dry density

(C) Water content and specific gravity (D) Voids ratio and dry density

133. What factor contributes to the possibility of obtaining inaccurate results in a Direct Shear test
conducted on a saturated clay sample?

(A) Drainage conditions are not controllable

(B) Progressive failure might take place

(C) The tests amounts to undrained tests

(D) Failure plane is predetermined

134. The weakest bond in soil is

(A) Ionic bond (B) Covalent bond

(C) Metallic bond (D) Secondary valence bond

135. Under-reamed piles are generally

(A) Driven piles (B) Bored piles

(C) Precast piles (D) None of the above

136. Graphical method for the determination of earth pressure

(A) Taylor’s method (B) Culmann’s method

(C) Mohr diagram method (D) Newmark’s influence chart method

137. Among the following types of water, which one is chemically combined in the crystal structure
of the soil mineral and can be removed only by breaking the crystal structure?

(A) Capillary water (B) Adsorbed water

(C) Hygroscopic water (D) Structural water

138. Pick up the correct statement from the following

(A) Sandy clay loam contains highest percentage of sand

(B) Silty clay loam contains highest percentage of silt

(C) Stiff boulder clay offers maximum shear strength

(D) Soft chalk carries least safe load
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139. Vibroflotation techniques is best suited for densifying

(A) Very loose sands below water table (B) Layered clays

(C) Organic clays (D) Coarse sands and gravels

140. The liquidity index is defined as a ratio expressed as percentage of

(A) Plastic limit minus the natural water content, to its plasticity index

(B) Natural water content minus its plastic limit to its plasticity index

(C) Natural water content plus its plastic limit to its plasticity index

(D) Liquid limit minus the natural water content to the plasticity index

141. Unconfined compressive strength test is:

(A) Drained test (B) Undrained test

(C) Consolidated undrained test (D) Consolidated drained test

142. What happens to the effective angle of internal friction of dense sand as the state of strain
changes from plain strain to triaxial strain condition?

(A) Remains constant (B) Increases

(C) First increase then remains constant (D) Decreases

143. Based on ‘one point method’ using the cone Penetrometer, determine the liquid limit if natural
moisture content is 35% and its corresponding penetration (D) is 20 mm

(A) 20 (B) 60

(C) 45 (D) 35

144. Coulomb’s theory of earth pressure is based on

(A) The theory of plasticity (B) The theory of elasticity

(C) Empirical rules (D) Wedge theory

145. If a saturated column with a porosity of 0.40 has a cross-sectional area of 1 m² and a depth of 4
m, what is the volume of water stored within it?

(A) 1.60 m3 (B) 4.0 m3

(C) 0.40 m3 (D) 16.0 m3

146. The bearing capacity factors Nc, Nq and Nγ are functions of

(A) Width and depth of footing (B) Density of soil

(C) Cohesion of soil (D) Angle of internal friction of soil

147. Hydrometer readings are corrected for

(A) Both Meniscus correction & Dispersing agent correction are positive

(B) Both Meniscus correction & Dispersing agent correction are subtractive

(C) Meniscus correction is subtractive and Dispersing agent correction is additive

(D) Meniscus correction is additive and Dispersing agent correction is subtractive
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148. Compaction grouting is suitable for

(A) Soft clays (B) Loose cohesionless soil

(C) Organic soil (D) Rocks

149. The formation which contains water but is not able to transmit it is called

(A) An aquifer (B) An aquifuge

(C) An aquiclude (D) None of the above

150. Rigid pavement are commonly made of _______

(A) Bitumen (B) Dry-lean concrete

(C) Earthen Materials (D) Portland cement concrete

151. At liquid limit, all soils posses

(A) Same shear strength of small magnitude

(B) Same shear strength of large magnitude

(C) Different shear strengths of small magnitude

(D) Different shear strengths of large magnitude

152. Geosynthetic clay liner is a composite of _______

(A) Geotextiles and bentonite clay (B) Silt and gravel

(C) Gravel and bentonite clay (D) Geotextiles and gravels

153. Highway Research Board (HRB) classification of soils is based on

(A) Particle size composition

(B) Plasticity characteristics

(C) Both particle size composition and plasticity characteristics

(D) Orientation of Particle

154. Inorganic soils with low compressibility are represented by

(A) MH (B) SL

(C) ML (D) CH

155. In static cone penetration test, the cross sectional area of the cone is

(A) 10 cm2 (B) 20 cm2

(C) 30 cm2 (D) 35 cm2

156. The coefficient of permeability of clay is generally

(A) Between 10–4 and 10–2 mm/s (B) Between 10–5 and 10–4 mm/s

(C) Between 10–5 and 10–8 mm/s (D) Less than 10–8 mm/s

157. The instrument used for measuring the velocity of flow is known as

(A) Venturimeter (B) Orificemeter

(C) Pitot tube (D) None of the above
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158. A centrifugal pump gives maximum efficiency when its impeller blades are

(A) Bent forward (B) Bent backward

(C) Straight (D) Wave-shaped

159. Pressuremeter test is performed at the site to measure which property of soil?

(A) Skin friction (B) Shear modulus

(C) Relative density (D) Modulus of subgrade reaction

160. Hydraulic jump forms in a horizontal rectangular channel carrying a unit discharge of
1.019 m3/sec/m at a depth of 101.9 mm. The jump is classified as

(A) Steady jump (B) Oscillating jump

(C) Strong jump (D) Weak jump

161. Which of the following defects is caused by vaporization of entrapped moisture of solvents in a
painted surface?

(A) Blooming (B) Blistering

(C) Saponification (D) Cissing

162. Which equipment can measure directly matrix suction of soil in the field?

(A) Tensiometer (B) Oedometer

(C) Pycnometer (D) Thermometer

163. The hydrologic cycle states that

(A) Total inflow – total outflow = constant

(B) Subsurface inflow = subsurface outflow

(C) Inflow into basin = outflow from the basin

(D) Mass inflow – mass outflow = change in mass storage

164. The Thiessen polygon is

(A) A polygon obtained by joining adjoining raingauge stations

(B) A representative area used for weighing the observed station precipitation

(C) An area used in the construction of depth-area curves

(D) The descriptive term for the shape of a hydrograph

165. The shape of clay particle is usually:

(A) Angular (B) Flaky

(C) Tabular (D) Rounded

166. In context to distance between bonded atoms present in soil minerals, 1 Angstrom is equal to
how much microns?

(A) 10–10 (B) 10–6

(C) 10–4 (D) 10–8
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167. Direct runoff is made up of

(A) Surface runoff, prompt interflow and channel precipitation

(B) Surface runoff, infiltration and evapotranspiration

(C) Overland flow only

(D) Rainfall and evaporation

168. For a given shallow foundation of width 1.0m and average corrected SPT blows (N) is 25 and
net foundation pressure equal to 50 kPa, the total settlement ‘S’ in mm is ?

(A) 1.5 mm (B) 2.0 mm

(C) 0.5 mm (D) 2.5 mm

169. The design flood commonly adopted in India for barrages and minor dams is

(A) Probable maximum flood

(B) A flood of 50-100 years return period

(C) Peak flood

(D) Standard project flood or a 100-year flood, whichever is higher

170. The most suitable method of irrigation for areas having low rainfall and strong winds is

(A) Furrow irrigation (B) Sprinkler irrigation

(C) Drip irrigation (D) Contour irrigation

171. For the purpose of designing a well point system for lowering ground water table in sandy silt
deposit for normal construction works, which Indian Standard is referred or recommended?

(A) IS:5050-1968 (B) IS:14590-1998

(C) IS:9759-2008 (D) IS: 15284-2003

172. The area, on which crops are grown in a particular season, is called

(A) Culturable commanded area (CCA) (B) Gross sown area

(C) Net sown area (D) None of the above

173. Arrange the following items in descending order based on their heat of hydration.

(A) C3A > C3S > C4AF > C2S (B) C3A > C4AF > C3S > C2S

(C) C3A > C4AF > C2S > C3S (D) None of the above

174. A flow net can be used to determine?

(A) Seepage, coefficient of permeability and uplift pressure

(B) Seepage, coefficient of permeability and exit gradient

(C) Seepage, exit gradient and uplift pressure

(D) Seepage, exit gradient only

175. The maximum rate at which a soil in a given condition is capable of absorbing water is called

(A) Infiltration rate (B) Infiltration capacity

(C) Field capacity (D) None of the above
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176. Precipitation does not include

(A) Frost (B) Snow melt

(C) Mist and fog (D) Stream flow

177. Which one of the following is true/correct?

(A) Time factor Tv depends upon co-efficent of consolidation (Cv), time t and the drainage
path d.

(B) Time factor Tv depends upon co-efficent of compressibility (Cc), time t and the drainage
path d.

(C) Both (A) and (B)

(D) Time factor Tv is independent of co- efficent of consolidation (Cv), time t and the drainage
path d.

178. The increased rate of gain of strength of rapid hardening cement is achieved by?

(A) Higher content of C3S and finer grinding of cement

(B) Higher content of C2S

(C) Higher content of C3A

(D) Only finer grinding of cement

179. The pressure on phreatic line is?

(A) Equal to atmospheric pressure (B) Greater than atmospheric pressure

(C) Less than atmospheric pressure (D) Not related to the atmospheric pressure

180. A water shed canal

(A) Is most suitable in hilly areas (B) Avoids the cross drainage work

(C) Irrigates only on one side (D) Constructed parallel to parent canal

181. Which one is true?

(A) Recompression index is higher than the compression index

(B) Recompression index is smaller than the compression index

(C) Recompression index is 1.5 times higher than the compression index

(D) Recompression index is equal to the compression index

182. In a gravity dam, tail water causes

(A) Decreases in principal stress

(B) Decreases in shear stress

(C) Increases in both principal & shear stress

(D) Both (A) and (B) above

183. The dimensions of dynamic viscosity  is

(A) ML–1T–2 (B) ML–1T–1

(C) MLT–2 (D) M0L0T0
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184. As per Boussinesq’s analysis for a strip footing, the pressure bulb extends maximum to which
width?

(A) 0 B (B) 6 B

(C) œ B (D) 10 B

185. An ideal fluid is one which is

(A) Compressible (B) Elastic and viscous

(C) Non viscous and incompressible (D) Of low density

186. Tortuosity of a meandering river is the ratio of?

(A) Direct axial length of the river to the curved length along the river

(B) Meander length to width of the meander

(C) Curved length along the river to the direct axial length of the river

(D) Meander length to width of the river

187. In a river, silt excluder and silt ejector are constructed

(A) At the head of the canal and at a location after the head regulator, respectively

(B) At the same location

(C) At specific locations depending upon diverse factors and their locations do not follow a set
pattern.

(D) At a location after the head regulator and at the head of the canal respectively

188. The line of action of the buoyant force acts through the

(A) Centre of gravity of any submerged body

(B) Centroid of volume of any floating body

(C) Centroid of displaced volume of fluid

(D) Centroid of horizontal projection of body

189. Which of the following fluids can be classified as Non-Newtonian?

1. Kerosene oil        2. Diesel oil        3. Human blood 4. Toothpaste 5. Water

Select the correct answer using the codes given below:

(A) 1 and 2 (B) 3 and 4

(C) 2 and 5 (D) 1 and 5

190. Apart from inertia force which of the following force is most important in motion of submarines
under water?

(A) Viscous force (B) Gravity force

(C) Compressive force (D) Surface tension force

191. Which one of the following phenomena in a pipe flow is termed as water hammer?

(A) The sudden rise of pressure in a long pipe due to sudden closure of valve

(B) The rise of pressure in a pipe flow due to gradual closure of valve

(C) The rise of negative pressure

(D) The zero pressure in a pipe flow
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192. If the kinematic viscosity of a liquid is 5 stokes and its specific gravity is 1.90, what is the
viscosity of the liquid?

(A) 0.095 poise (B) 0.95 Ns/m2

(C) 9.50 poise (D) 95.0 Ns/m2

193. The existence of boundary layer is on account of

(A) Fluid density (B) Gravitational effect

(C) Fluid viscosity (D) Flow turbulence

194. What is the depth of the center of pressure when the water surface aligns with the upper edge of
a rectangular vertical gate measuring 30 meters wide by 3 meters deep?

(A) 2.5 m (B) 2.0 m

(C) 1.5 m (D) 1.0 m

195. The ratio of average velocity to maximum velocity for steady laminar flow in circular pipes is

(A) 1/2 (B) 2/3

(C) 3/2 (D) 2

196. Most efficient channel section is

(A) Half hexagon in the form of trapezoid (B) Triangular

(C) Rectangular (D) Semicircular

197. For the growth of plants, the useful soil moisture is

(A) Rain water (B) Gravity water

(C) Capillary water (D) Chemically treated water

198. For irrigation purposes the pH value of water should be

(A) Near Zero (B) Near 14

(C) Between 3 – 0.6 (D) Between 6 – 8.5

199. What is the condition of the joint between a fire hose and its nozzle when the nozzle discharges
a jet of water into the atmosphere at a velocity of 20 m/s?

(A) Tension (B) A State of Zero stress

(C) Compression (D) Bending Stress

200. The bed of the canal is lowered in case of

(A) Canal syphon (B) Level crossing

(C) Syphonaquaduct (D) All of the above

201. Lands or climate that lack sufficient water for agriculture without artificial irrigation, are
called

(A) Dry zone (B) Non-agriculture zone

(C) Permanent wilting zone (D) Arid zone
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202. Which of these does NOT affect the suction capacity of soil?

(A) Dissolved Salts (B) Temperature

(C) Pressure of Water (D) Angle of Contact

203. What is the term for the phenomenon where sand and other materials are deposited in a zig-zag
pattern due to drifting along the coast?

(A) Beach drift (B) Sand boiling

(C) Littoral drift (D) Sand blasting

204. Which of the following is Rabi crop

(A) Rice (B) Maize

(C) Potatoe (D) Cotton

205. The porosity of soil sample having its void ratio equal to unity will be

(A) 50% (B) 33.3%

(C) 66.6% (D) 75%

206. An isochrone is a line on the basin map

(A) Joining points which are at equal distance from the catchment oulet

(B) Joining rain gauge stations having equal rainfall duration

(C) Joining points having equal rainfall depth in a given time interval

(D) Joining points having equal time of travel of surface runoff to the catchment outlet

207. A crop which is raised entirely with the help of rainfall, is called

(A) Natural crop (B) Rainy crop

(C) Wet crop (D) Dry crop

208. Dead storage in a reservoir is provided to

(A) Mitigrate the floods (B) Increase the useful life period

(C) Meet the emergency needs (D) Accommodate the silt trapped in a reservoir

209. Arrange the following list of soils in increasing order of surface areas?

(A) Sand-silt-clay-colloids (B) Silt-sand-colloids-clay

(C) Sand-clay-silt-colloids (D) Clay-silt-sand-colloids

210. Diversion head work is constructed to

(A) Facilitate the silt entry into the canal

(B) Lower water level in the river

(C) Increase fluctuations in the supply level of the river

(D) Regulate the intake of water into the canal

211. Theoretically the best cross section for a lined canal is

(A) Semicircular (B) Triangular

(C) Trapezoidal (D) None of the above
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212. Match the following:

 Column -I  Column-II

P. Mathematical models (i) Empirical model

Q. Saturated flow mathematical model (ii) Darcy’s equation

R. Navier-Stokes equations (iii) Rational formula

S. Infiltration equation (iv) Numerical solution

T. Lumped model (v) Analytical model

(A) (P) - (v),  (Q) - (i),  (R) - (iv),  (S) - (iii),  (T) - (ii)

(B) (P) - (i),  (Q) - (ii),  (R) - (iii),  (S) - (iv),  (T) - (v)

(C) (P) - (iii),  (Q) - (i),  (R) - (v),  (S) - (ii),  (T) - (iv)

(D) (P) - (iv),  (Q) - (ii),  (R) - (iii),  (S) - (v),  (T) - (i)

213. Most Artificial Neural Network models are referred to as Black Box models because:

(A) Model operation is unknown (B) Its source code is not known

(C) It cannot be calibrated (D) The software is ‘write’ protected

214. What is the unit of intrinsic permeability?

(A) m/day (B) m

(C) m2 (D) m-sec

215. Alkaline soils are best reclaimed by

(A) Leaching (B) Addition of gypsum to soil

(C) Providing good drainage (D) Addition of gypsum to soil and leaching

216. The most preferred soil for the central impervious core of a zoned embankment type of an
earthen dam, is

(A) Highly impervious clay (B) Highly impervious gravel

(C) Coarse sand (D) Clay mixed with fine sand

217. The famous Bhakra dam of our country has been provided with

(A) Trough spillway (B) Ogee spillway

(C) Shaft spillway (D) Syphon spillway

218. The flow in a chute spillway is generally

(A) Supercritical (B) Critical

(C) Subcritical (D) Uniform

219. The base width of a rock fill dam, in comparison to that of an earthen dam is:

(A) Much larger (B) Much smaller

(C) Sometimes larger sometimes smaller (D) Almost equal
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220. In context to ‘Triaxial compression Test’, choose the correct option regarding the statements
from the given below:

(i) A soil specimen, cylindrical in shape is subjected to direct stresses acting in three mutually
perpendicular directions.

(ii) Length of specimen in the test is kept about 3 to 
13
2  times its diameter..

(iii) The effective minor principal stress is equal to the cell pressure minus the pore pressure.

(A) 1, 2 & 3 all are true and correct (B) 2 & 3 are correct, 1 is incorrect

(C) 1 & 2 are correct, 3 is incorrect (D) 1 & 3 are true, 2 is incorrect

221. The minimum size of gravel that will not move in the bed of the wide rectangular channel of
depth 0.8 m and longitudinal slope 0.0042 is?

(A) 36.28 mm (B) 28.36 mm

(C) 35.78 mm (D) 32.28 mm

222. What is the water application efficiency when, during a 10-hour irrigation session for a wheat
crop, 400,000 liters were lost due to runoff and percolation, while 2,800,000 liters were delivered
to the field?

(A) 87.50% (B) 85.71%

(C) 75.50% (D) 71.85%

223. Plaster of Paris is obtained by calcining

(A) Gypsum (B) Bauxite

(C) Lime stone (D) Kanker

224. Which of the following sets is employed to manage seepage within the foundations of an earth
dam?

(A) Chimney drain , upstream blanket and cut-off trench

(B) Cut-off sheet piles, upstream blanket and cut-off trench

(C) Upstream blanket, cut-off sheetpiles and chimney drain

(D) Relief wells, upstream blanket and chimney drain

225. In case the concrete is to be transported by pumping, the slump should be

(A) More than 200 mm (B) Between 75 mm to 100 mm

(C) Between 25 mm to 75 mm (D) More than 25 mm

226. Which of the following ingredients of the brick earth enables the brick to retain its shape?

(A) Alumina (B) Silica

(C) Iron (D) Magnesia

227. In a Newmark’s influence chart for stress distribution, there are 10 concentric circles and 50
radial lines. The influence factor of the chart is?

(A) 0.0002 (B) 0.002

(C) 0.02 (D) 0.2
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228. Drills used for drilling in soft rocks are

(A) High speed steel drills (B) Diamond drills

(C) Auger drills (D) Detachable drills

229. The process of evaluating the rough cost of construction of a project is known as

(A) Workable cost (B) Estimate

(C) Rough cost (D) Actual cost

230. Which of the following statements accurately describes aspects of pressure distribution under a
strip footing?

(i) The pressure bulb under a strip footing develops longitudinally.

(ii) The pressure bulb under a strip footing develops laterally.

(iii) The contact pressure at the edges of a rigid footing on saturated clay is theoretically infinite.

(A) (ii) & (iii) only (B) (i), (ii) & (iii)

(C) (i) & (ii) only (D) (i) & (iii) only

231. In a detailed estimate, the provision for contingencies is, usually

(A) 1% (B) 3% to 5%

(C) 10% (D) 12% to 25%

232. If the actual observed value of Standard Penetration resistance, N is greater 15 in a fine sand
layer below water table, then the equivalent penetration resistance will be ?

(A)
(N 15)15

2


 (B)
(N 15)15

2




(C)
(N 15)15

2


 (D)
(15 N)15 p

2




233. Match List-I (Field test) with List-II (Parameters measured) and select the correct answer

 List-I  List-II

a. Plate load test 1. Total and Frictional resistance

b. Standard Penetration test 2. Load intensity and settlement values

c. Static Dutch Cone Penetration test 3. Ncd values

d. Dynamic Penetration test 4. SPT values

(A) a - 2,  b - 4,  c - 3,  d - 1 (B) a - 4,  b - 2,  c - 3,  d - 1

(C) a - 2,  b - 4,  c - 1,  d - 3 (D) a - 4,  b - 2,  c - 1,  d - 3

234. Which is the weakest concrete?

(A) 1 : 2 : 4 (B) 1 : 3 : 6

(C) 1 : 4 : 8 (D) 1 : 5 : 10

235. The value of demolished material is known as

(A) Scrap value (B) Resultant value

(C) Salvage value (D) Any of the above
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236. The primary function of geogrid is?

(A) Connecting two layers (B) Separators

(C) Reinforcement (D) Protection from corrosion

237. Which one of the following characteristics is not measured by geophysical method of soil
exploration?

(A) Plasticity (B) Density

(C) Magnetism (D) Electrical resistivity

238. Consider the following statements:

i. undisturbed samples may be obtained with the help of augers

ii. auger drilling is most effective in clayey soils

iii. hollow stem augers are sometimes used to drill holes in silty sand

Which of these statements are correct?

(A) (i) and (ii) only (B) (ii) and (iii) only

(C) (i) and (iii) only (D) (i), (ii) and (iii)

239. A revised estimate is usually prepared when the original estimate has exceeded by more than

(A) 1% (B) 2%

(C) 10% (D) 100%

240. The minimum thickness of a wall in stone masonary should not be less than

(A) 100 mm (B) 200 mm

(C) 350 mm (D) 450 mm

241. Which technique of stabilization for the sub-base is preferred for a heavy plastic soil?

(A) Bitumen stabilization (B) Cement stabilization

(C) Lime stabilization (D) Mechanical stabilization

242. The hydraulic lime-sand mortar normally used in brick construction has a ratio of:

(A) 1:8 (B) 1:6

(C) 1:4 (D) 1:2

243. Polyvinyl Chloride (PVC) is a

(A) Thermosetting material (B) Thermoplastic material

(C) Elastoplastic material (D) Rigid plastic material

244. If the error in the measurement of head in a ‘V’ notch is 1%, then the error in the measurement
of discharge will be?

(A) 1% (B) 1.5%

(C) 2% (D) 2.5%
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245. The value of property that can be obtained at any particular time from the open market if the
property is put for sale, is called

(A) Market value (B) Book value

(C) Current value (D) Obsolence value

246. Vertical circulation within the building is possible by

(A) Verandah (B) Balcony

(C) Staircase (D) Passage

247. Minimum head room required in a staircase is

(A) 3.5 m (B) 3 m

(C) 2.1 m (D) 1.5 m

248. In steady laminar flow of a liquid through a circular pipe of internal diameter D, carrying a
constant discharge, the hydraulic gradient is inversely proportional to?

(A) D4 (B) D

(C) D2 (D) D5

249. Marble is a

(A) Stratified rock (B) Unstratified rock

(C) Foliated rock (D) Argillaceous rock

250. Blast furnace slag has approximately

(A) 45% Calcium oxide and about 35% silica

(B) 50% Alumina and 20% Calcium oxide

(C) 25% Magnesia and 15% silica

(D) 25% Calcium sulphate and 15% alumina

251. Refraction error is the least in case of?

(A) Omnimeters (B) Stadia tacheometry

(C) Tangential tacheometry (D) Subtense bar tacheometry

252. As per IS:456:2000, concrete having characteristic strength varying between M25 to M55 is
known as

(A) Ordinary concrete (B) Standard concrete

(C) Nominal concrete (D) Normal concrete

253. Suitable foundation for steel columns is

(A) Mat foundation (B) Combined foundation

(C) Strap footing (D) Grillage footing

254. Express 2338 ppm sodium chloride salt concentration in me/l of water. Assume equivalent weight
of sodium chloride = 58.45.

(A) 40.00 me/l (B) 39.35 me/l

(C) 58.45 me/l (D) 23.38 me/l
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255. If the number of sides resulting in a closed traverse is increased from three to four, the sum of
the interior angles increases by?

(A) 360° (B) 180°

(C) 270° (D) 90°

256. Among the following statements relating the fundamental lines of a transit theodolite, which
one is CORRECT?

(A) When the line of collimation is vertical, the Vernier of the vertical circle should indicate a
reading of zero.

(B) The axis of plate level must lie in a plane parallel to the vertical axis.

(C) At the point where it intersects the vertical axis, the line of collimation must be perpendicular
to the horizontal axis.

(D) The axis of altitude level must be perpendicular to the line of collimation.

257. Louvered doors are preferred when

(A) Privacy is required (B) Ventilation is required

(C) Lighting is required (D) Both privacy and ventilation are required

258. Roof in which slab is directly supported by column is known as

(A) Grid floor (B) Flat slab

(C) Two-way slab (D) Beam and slab floor

259. Which Earth and Rockfill dam is highest in India and 4th largest in the World?

(A) Tehri Dam (B) Ukai Dam

(C) Banasura Sagar Dam (D) Hirakud Dam

260. Slack time in PERT analysis is

(A) Always zero for critical activities (B) Minimum for critical events

(C) Can never be less than zero (D) Can never be greater than zero

261. The LEED system rates buildings platinum on the basis of

(A) 26 – 32 points (B) 33 – 33 points

(C) 39 – 51 points (D) 52 or more

262. From the consideration of earthquake resistance the plan of a building preferred is

(A) Square (B) Rectangular

(C) T-shaped (D) L-shaped

263. The order of booking dimension is

(A) Length, breadth, height (B) Height, length, breadth

(C) Breadth, length, height (D) Height, breadth, length

264. Given that the base period is 100 days and the duty of the canal is 864 hectares per cumec, the
depth of water will be?

(A) 100 cm (B) 10 cm

(C) 864 cm (D) 1000 cm
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265. Which of the following detail is not included in tender notice?

(A) Name of work (B) Name of Contractor

(C) Name of Officer inviting tender (D) Name of Department

266. Analysing and Preparation of comparative statement of contractor is done in which step of
tendering process?

(A) Submission of Tender (B) Scrutiny of Tender

(C) Opening of Tender (D) Acceptance of Tender

267. In India for government work which conditions are mostly used?

(A) CPWD conditions of contract (B) Indian Contract Act

(C) FIDIC conditions of contract (D) All of the above

268. Which one of the following is not the main cause for soil salinity and sodicity?

(A) Irrigation mismanagement

(B) Poor land levelling

(C) Use of heavy machinery, resulting in no soil compaction

(D) Leaching without adequate drainage

269. How would you classify a soil sample with an exchangeable sodium percentage of 16%, an
electrical conductivity of 3.2 milli-mhos/cm, and a pH of 9.5?

(A) Saline soil (B) Alkaline soil

(C) Saline-Alkaline soil (D) None of the above

270. Energy in remote sensing deals with which region of electromagnetic spectrum?

(A) Ultra-violet (B) Gamma Ray

(C) X-Ray (D) Infrared

271. In which state ‘Atal tunnel’ is located?

(A) Utter Pradesh (B) Himachal Pradesh

(C) Uttarakhand (D) Jammu & Kashmir

272. Which function of total station is used to determine the heights of inaccessible points where it is
not possible to locate the prism?

(A) Traverse measurements

(B) Setting out functions

(C) Remote Elevation Measurements (REM)

(D) Coordinated measurements

273. Parallax in aerial photographs is an error due to

(A) Overlap in photographs (B) Movement of camera and ground relief

(C) Distortion caused by camera lens (D) Distortion due to lack of focus
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274. The geophone is
(A) To measure the electrical resistivity of soil
(B) An electromechanical device that detects vibrations and converts them into measureable

electric signals
(C) Useful for drawing a bore well lag
(D) To measure the magnitude of velocity

275. Tellurometer is an example of?
(A) Visible light instruments (B) Type of surveyor or compass
(C) Microwave instruments (D) IR instruments

276. What do the latitude, longitude and altitude displayed by a GPS receiver represent?
(A) The height above MSL
(B) 3D position fixed with millimeter accuracy

(C) An estimate of the receiver’s antenna position

(D) The height above the reference ellipsoid

277. The Penman’s evapo-transpiration equation is based on

(A) Energy balance and mass transfer approach

(B) Water budget method

(C) Energy balance method

(D) Mass transfer method

278. Frontal precipitation comes under which type of precipitation?

(A) Convective precipitation (B) Precipitation due to turbulent ascent

(C) Cyclonic precipitation (D) Orographic precipitation

279. Ombrometer (pluviometer) is used to measure?

(A) Rainfall depth (B) Soil moisture stress of a plant

(C) Leaf area (D) Root zone depth

280. In drip irrigation system, which one of the following emitters is not based on definitions by
American Society of Agricultural Engineers (ASAE)?

(A) Emitter (B) Pulsating emitter

(C) Long path emitter (D) Multi-outlet emitter

281. Cavity walls are constructed as external walls to shield buildings from external temperature
extremes by utilizing the hollow space between two walls as a/an?

(A) Destructive material (B) Burning material

(C) Building material (D) Insulating material

282. Depending upon type of contract which of the following is not a type of tender?

(A) Item Rate Tender (B) Percentage Rate Tender

(C) Selected Tender (D) Lum-sum tender
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283. Damages caused due to delay in work are termed as?

(A) Liquidated Damages (B) Unliquidated Damages

(C) Direct Damages (D) Tangible Damages

284. Which instrument is used to measure pore water pressure in existing dams?

(A) Tilt meter (B) Magnetic extensometer

(C) Capillary meter (D) Piezometer

285. Pneumatic-tyred rollers are useful for compacting

(A) Granular soils (B) Uniformly Graded soils

(C) Both (A) and (B) (D) For soils in confined space

286. Which organization is established by GOI under Department of Science & Technology (DST)
for development of new technologies in laser land leveling using GPS?

(A) Technology Innovation Management & Entrepreneurship Information Service (TIME IS)

(B) Technical Innovation Management & Enterprise Innovation Science (TIME IS)

(C) Technology Internet Management & Entrepreneurship Information System (TIME IS)

(D) Technology Intelligent Management & Entrepreneurship Infinity Service (TIME IS)

287. Which Indian Standard gives guidelines on use of various types of Dozer’s for highway works?

(A) IRC-SP:48-2023 (B) IRC:125-2017

(C) IRC-SP:68-2005 (D) IS:456-2000

288. Which research organization is established by Government of India for Agriculture Management
system in India?

(A) Indian Cooperation of Agricultural Research (ICAR)

(B) Indian Center of Agricultural Rain (ICAR)

(C) Indian Consumption of Agricultural Research (ICAR)

(D) Indian Council of  Agricultural Research (ICAR)

289. The basic principle of fluid flow are

1. Conservation of mass        2. Conservation of energy 3. Conservation of momentum

Which of these statements are correct?

(A) Both 1 and 2 (B) Both 2 and 3

(C) Both 1 and 3 (D) 1, 2 and 3

290. The most important purpose of frog in a brick is to

(A) Emboss manufacturing’s name

(B) Reduce weight of brick

(C) Form keyed joint between brick & mortar

(D) Improve insulation by providing ‘hollows’
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291. The percentage of gypsum added to the clinker during manufacturing process is

(A) 0.2 (B) 0.25 to 0.35

(C) 2.5 to 3.5 (D) 5 to 10

292. Identify the correct statements from the following:

(i) Water held firmly to the clay particles has the same properties as ordinary water

(ii) Lateritic soil is a category of organic soil

(iii) A soil transported by gravitational force is called talus

(iv) A clay deposit which exhibits no evidence of fissuring is described as intact.

(A) Only (i) and (iv) are correct (B) Only (iv) is correct

(C) Only (i), (iii) and (iv) are correct (D) Only (ii) and (iii) are correct

293. The clayey mass which has been dried well below shrinkage limit thus attaining minimum
volume, when suddenly immersed in water, resulting into its disintegration into a soft wet mass
is known as?

(A) Bulking (B) Frost Heave

(C) Plasticity (D) Slaking

294. Which clay minerals has the highest Cation Exchange Capacity (CEC)?

(A) Kaolinite (B) Illite

(C) Vermiculite (D) Montmorillonite

295. Which National level autonomous institute has been established by GOI, under DST at Dehradun
with the objective to carry-out research towards the development of new concepts and models
concerning geodynamic evolution of the Himalaya?

(A) Wadia Institute of Himalayan Geology

(B) National Geophysical Research Institute

(C) National Centre for Earth Science Studies

(D) National Centre for Polar and Ocean Research

296. Which of the following is not a reason for rejection of lowest tender?

(A) When contractor is having more experience then required

(B) When tender is not submitted in prescribed format

(C) When there is any unreasonable condition

(D) When tender amount is exceeding sanctioned amount

297. Darcy’s law is not applicable to seepage through soils if

(A) The soil is homogeneous and isotropic
(B) The soil is incompressible under stresses
(C) The flow condition are laminar in soil
(D) The flow condition are turbulent in soil
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298. When the drainage is permitted throughout the tri-axial test, the test is known as

(A) Quick test (B) Drained test

(C) Consolidated undrained test (D) None of the above

299. Temperature of air at which it becomes just fully saturated with the available vapor is known as

(A) Dew point (B) Cloud point

(C) Frost point (D) None of the above

300. Mechanical ventilation method used in tunnels consists of

(A) Blowing fresh air (B) Providing exhaust air by ducts

(C) Both (A) and (B) (D) None of the above
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